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Question Number : 1 Question Id : 92775914407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After arranging the given words according to dictionary order, which word will come at ‘fourth’ position?
1. ARISES

2. ARGUES

3. ARCTIC

4. ARCADE

5. ARMIES

Options :

1. ¥ ARMIES
2. % ARCADE
3. ¥ ARISES

4. * ARGUES



Question Number : 1 Question Id : 92775914407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U T T3] B TG IY & SR TR H & UYTd, P IT Ueg A1 YT TR ST
1. ARISES

2. ARGUES

3. ARCTIC

4. ARCADE
5. ARMIES

Options :

1. * ARMIES
2. % ARCADE
3. ¥ ARISES
4. * ARGUES

Question Number : 2 Question Id : 92775914408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
BDJ, EIQ, HNX, KSF, NXL

Options :
1. ®= EIQ
2. % HNX
3. ¥ KSF
4. % NXL

Question Number : 2 Question Id : 92775914408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 foar T B, Ford ¥ U ug 7T ¢ | faU 7Y fawed! & 9 39 7Tad g & gHu|
BDJ, EIQ, HNX, KSF, NXL

Options :



1. ¥ EIQ
2. % ANX
3. ¢ KSF
4. % NXL

Question Number : 3 Question Id : 92775914409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
SHR, WKW, ANB, EQG, ?

Options :
1. ® JUM
2. ¥ ITL
3. ¥ KVN
4. % LWO

Question Number : 3 Question Id : 92775914409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R A U Ue g 21w T et A @ o8 U8 Rehed g, S g B R AR

SHR, WKW, ANB, EQG, ?
Options :

1. ® JUM

2. ¥ ITL

3. % KVN

4. % LWO

Question Number : 4 Question Id : 92775914410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FLS, KUI11, PD23, UMA47, ?



Options :

1. ®* YVO95
2.¥ 7ZV95
3. % ZV97
4. % YV97

Question Number : 4 Question Id : 92775914410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T ], ford @ v ue g g | iU U fawed! & 3§ 98 Wt fadwen gig, St 3rgehd &l [T |

FLS5, KU11, PD23, UM47, ?
Options :

1. ®* YVO95

2.¥ 7ZV95

3. % ZV97

4. % YV97

Question Number : 5 Question Id : 92775914411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
RK:VO:FM:?

Options :

1. = JP

2.¥]Q

3. % KQ

4. % KP

Question Number : 5 Question Id : 92775914411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforRad oy & fou Tu fowedt & @ Sefda sieri &1 gfu|



RK:VO::FM:?
Options :

1. % JP

2.%JQ

3. % KQ

4. % KP

Question Number : 6 Question Id : 92775914412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related word pair from the given alternatives.
Doctor : Hospital :: ?

Options :

1. ¥ Worker : Factory
2. % School : Teacher
3. # Court : Lawyer
4. % Chef: Food

Question Number : 6 Question Id : 92775914412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofefad vy # fau e fasw e @ & Heifid wrsg 3@ &1 gfAul
STacX : AT :: ?

Options :

1. ¥ TolgR : e

2. % faeTery : eHTUSh

3. ® Y1y : gl

4. % ARl : HioH

Question Number : 7 Question Id : 92775914413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related letters from the given alternatives.
MARG : PVXC :: FIND : ?

Options :

1. # IDUZ
2. ¥ IDTZ
3. % HDTZ
4. ¥ HDTY

Question Number : 7 Question Id : 92775914413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafeRad vy @ fau e famedl O @ Tefid sierl & gl
MARG : PVXC :: FIND : ?

Options :

1. ® IDUZ

2. ¥ IDTZ

3. ¥ HDTZ

4. % HDTY

Question Number : 8 Question Id : 92775914414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letter pair from the given alternatives.
GAME : APDJ :: ?

Options :

1. % LAND : ZQCO
2. % LPFD : ZISN
3. ¥ CRPF : BSOF
4. ¥ CAMP : LPDF

Question Number : 8 Question Id : 92775914414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & i 77T fowedl § 9 e sfeR g &l gHu|
GAME : APDJ :: ?

Options :

1. * LAND : ZQCO

2. % LPFD: ZISN

3. * CRPF : BSOF

4. ¥ CAMP : LPDF

Question Number : 9 Question Id : 92775914415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Head arm back’ is written as ‘7 2 6°, ‘Waist leg arm’ is written as ‘8 6 5°, ‘Face waist chest’ is written as ‘4 5 9°,
‘Hand back foot’ is written as ‘3 1 2’. What is the code for ‘Waist chest’ in that code language?

Options :
1.% 57
2.9 54
3.% 64
4. % 65

Question Number : 9 Question Id : 92775914415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁmm “—ﬂtﬂﬁ, ‘Head arm back’ &1 <72 6° %I@T\_YTI?IT%, “Waist leg arm’ P 865 %ET\_SHFIT%, ‘Face waist chest’ 1 ‘4 5 9° foran
\_Tﬂ?ﬂ%, ‘Hand back foot’ &1 <3 12’ %ETGW%I satraﬁ‘s' HTST & “Waist chest’ WWW%?

Options :

1.% 57

2.9 54

3.% 64

4. % 65

Question Number : 10 Question Id : 92775914416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RIPE’ is written as ‘567, ‘TICK’ is written as ‘406’. What is the code for ‘CHIT’ in that code language?
Options :

1. * 345

2. % 327

3. % 308

4.4 319

Question Number : 10 Question Id : 92775914416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fAfRIS HIs U, ‘RIPE’ B *567° NG SITAT 8, “TICK® B *406° foRaT ST 8 | 39 IS U H ‘CHIT HT HIS FT 57
Options :

1. # 345

2. % 327

3. % 308

4.¥ 319

Question Number : 11 Question Id : 92775914417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘IMPACT’ is written as ‘AYBWIJ’, ‘MUSCLE’ is written as ‘LHDZQN’. What is the code for ‘DRAGON’ in that
code language?

Options :

1. * UKGHNE
2. % KUHHNE
3. ¥ UKHHNE
4. * UKHINE

Question Number : 11 Question Id : 92775914417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U ARy ®Ig YW H, IMPACT’ &1 ‘AYBWI’ foraT SITaT 8, ‘MUSCLE’ &1 ‘LHDZQN’ foraT SITal 81 39 BIs U H ‘DRAGON” HT HIS
T ]?

Options :

1. * UKGHNE

2. % KUHHNE

3. ¥ UKHHNE

4. % UKHINE

Question Number : 12 Question Id : 92775914418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FAST’ is written as ‘62, ‘GREW’ is written as ‘55°. What is the code for ‘LAWS’ in that code language?
Options :

1. % 45

2. % 57

3.9 53

4. % 64

Question Number : 12 Question Id : 92775914418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fAfRIE Ble UTWI &, ‘FAST Bl 62’ ARG ST &, “GREW® B! *55° oI ST ¢ | 39 IS U T ‘LAWS’® BT HIS &1 57
Options :

1. % 45

2. % 57

3.9 53

4. % 64

Question Number : 13 Question Id : 92775914419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code language, ‘FOUGHT” is written as ‘GMGFTF’, ‘GOSPEL’ is written as ‘OJPHTG’. What is the code for ‘STEADY” in that
code language?

Options :

1. # BJAVZS
2. ¥ BIAVYS
3. % BIAWYS
4. # IBAVYS

Question Number : 13 Question Id : 92775914419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIf ®IS YW &, ‘FOUGHT” &1 *GMGFTF’ fefaT STl , ‘GOSPEL’ &1 “OJPHTG” foral STl 8| $H ®IS TN H ‘STEADY® &1 I
82

Options :

1. # BJAVZS

2. ¥ BIAVYS

3. ¥ BIAWYS

4. ® IBAVYS

Question Number : 14 Question Id : 92775914420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 persons P1, P2, P3, P4, P5 and P6 are sitting in a row facing towards north (not necessarily in the same order). P6 is fourth to the left of P5. P6
is the immediate neighbour of P2 and P3. P1 is to the immediate right of P3.
How many persons are sitting between P4 and P2?

Options :
1. %2
2. % 1
3.% 4
4.3

Question Number : 14 Question Id : 92775914420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

6 fa P1, P2, P3, P4, P5a%np6wqi%rﬁwﬁeh?a@mé%§q%mﬂﬁﬁs¥ﬂwﬁﬁ)lP6 P5 & ST 3R AT Po,
P2 QT P3 BT e TS 21 P1, P3 3 qid Gt 3R 21
P4aznpz$nwmﬁa:@ré%§u%v

Options :
1. % 2
2. % 1]
3.% 4
4.9 3

Question Number : 15 Question Id : 92775914421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of 6 members is to be formed from 11 boys : B1, B2, B3, B4, B5, B6, B7, B8, B9, B10 and B11. B7 and B10 cannot be in the same team.
B3 and B8 have to be selected together. Neither B11 nor B4 can be selected with B1. Atleast 3 even numbered boys should be in the team. B2
can be selected with either B3 or B5.

If B1 is selected for the team, then which of the following can represent the other members of the team?
I. B2 B5 B9 B7 B6
II. B8 B3 B2 B7 B10

Options :

1. ® Only I

2. % Only I

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 15 Question Id : 92775914421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 &I : B1, B2, B3, B4, B5, B6, B7, BS, B9, B10 AUTB11 H ¥ 6 Y& &t Ueb AH §-RI S 81 B7 TUT B10 GHE 11 & 781 8) Ihd g
B3 JUTBS B AR A AT ST G| ATEI B11 AT S B4 B B1 & W1 AT ol bl g | AU H HH F HH 3 T BT a1 TS g ANl B2 B
Tl B3 AT B5 o 1Y -1 off Ghell & |

gfe B1 &1 &\ & fore g4 forar mar 8, Y FRuforfaa & @ & QA &9 & 3 Yewl &1 <21 GobdT 8/A6d 82




I. B2 B5 B9 B7 B6
II. B8 B3 B2 B7B10

Options :

1. % FHadl

2. % Had Il

3. % [ UGl
4. TRIIATRII

Question Number : 16 Question Id : 92775914422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Weight of 7 articles A1, A2, A3, A4, A5, A6 and A7 is compared. Weight of A7 is more than only two articles. Weight of A5 is more than A7 but
less than A4. Weight of either A1 or A2 is maximum.

If weight of A4 is less than only two articles, then which of the following statement(s) is/are not correct?

[. ‘A3 <A6 <A7<AS5<A4<A2<ALI’ can be the correct sequence of their weights

II. Weight of A1 and A4 can be same

II1. If weight of A1 is 113 kg, then the sum of the weight of A1 and A2 can be 226 kg

I'V. Weight of A3 and A6 both can be less than only five articles

Options :

1. % Tand IV

2. % Il and III
3. % I,IIand IV
4. % I, 1I and III

Question Number : 16 Question Id : 92775914422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7T AL A2, A3, Ad, A5, A6 TUT A7 P HR B qa-T B T g1 A7 BT YR Had &l axgal I 3B g1 AS BT HR A7 I 3 g A
A4 HARI ATA AL AT A2 FT YR HAGIH |

Il A4 BT HR PBael ol el § HH 8, 4 Feiifad 3 § o 91/8 By 98 T8 8722

L ‘A3 <A6<A7 <AS5< A4 <A2<Al’ 3% HRI BT Tg! AIHH &l Tobdl g

I1. Al TUT A4 BT UR JAM &) Tl §

11 TfG A1 BT HR 113 THU1 8, O A1 TUT A2 B YR BT TN 226 B3 81 bl 8

IV. A3 TUT A6 GIFI &1 HR $Had Ul ag31 ¥ HH & Yabell §




Options :

1. % 1dUT 1V
2. 11 dYTIII
3.% LIIAUT IV
4, % [, I dYT I

Question Number : 17 Question Id : 92775914423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 books K1, K2, K3, K4, K5, K6, K7 and K8 are kept one above the other (not necessarily in the same order). Minimum 3 books are kept above
K6. K2 is just below K1 and just above K6. K5 is 4 places above K8. Minimum 2 even numbered books are kept below K6.
Which of the following statement is correct?

Options :

1. # No book is kept between K5 and K7

2. % Only 2 books are kept between K8 and K2
3. % K4 is just below K8

4. ¥ K3 is just above K7

Question Number : 17 Question Id : 92775914423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 T&I®I K1, K2, K3, K4, K5, K6, K7 TUT K8 I Th & 3R Udh @1 7T § (Sl Aa] &1 41 HH H 8l) | K6 B SR HH I HH 3 TP
T TR B 1 K2, K1 & 31 A1 § UTK6 & 31 S g1 KS, K8 T4 ™M FW 81 K6 P A1 HH I HH 2 TH IJA arell [ ! Tt g1
FafaRed § I &1 1 S 981 82

Options :

1. % K5 dUTK7 & A s Yl s 81 9 T g
2. % K8 TUTK2 & e $had 2 Tdd Q| T §

3. ¥ K4, KS P olp A 8

4. % K3, K7 P 3lh SW g

Question Number : 18 Question Id : 92775914424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If MOTHER is written as NNUGFQ in a certain code, then how is BORDER written in that code?
Options :

1. ¥ CNSEFQ

2. % CNQCFQ

3. % CMSCFQ

4. ¥ CNSCFQ

Question Number : 18 Question Id : 92775914424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T fAfYd e § MOTHER & NNUGFQ feraT SITdT 8, @@ BORDER &1 §e &1 feral S
Options :

1. ¥ CNSEFQ

2. % CNQCFQ

3. % CMSCFQ

4.+ CNSCFQ

Question Number : 19 Question Id : 92775914425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. No X is A.

II. Some K are A.

Conclusions:

I. Some K are not X.

I1. No A is X.

Options :
1. * Only conclusion I follows

2. * Only conclusion II follows



3. ¥ All conclusion follow

4. % Neither conclusion follows

Question Number : 19 Question Id : 92775914425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau U Uy H @ U 3R I 918 31 HUHI IR SAUNRG & (5pY 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o oik fisR fReiia & i fou o o1 @ fse, fou U sy & smuR &R gfaaa g

DHY-:
I.Hﬁéﬂﬁx,%ﬁﬁl
1. $PS K, AT
fAsm:

I. k,X:l%‘T%I
H.%lﬁA,XH%T%l

Options :

1. % $Had [FT5HY [ 3FIERU Bl §

2. % Had (BN 11 IR0 Hal §

3. ¢ Ot Y SERT v §

4. % 1% 1t Freepef SreR0r TEl R @

Question Number : 20 Question Id : 92775914426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All G are C.

II. All B are G.

Conclusions:

I. All B are C.

II. Some G are not B.

II. All C are G.

Options :



1. * Both conclusion II and III follows
2. * All conclusion follows
3. % Only conclusion II follows

4. % Only conclusion I follows

Question Number : 20 Question Id : 92775914426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau T Uy H 8 U 3R I 918 31 HUHI IR YRG5 56y 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg 1 9
T firerar 811 gt feeed ug ok fthr FReiia &3 fos fau e &F 9 feend, 3T U i & SR | gfadsid |
HY:

LI G, C Bl

.99 B, GBI

fAep:

LI B, C %l

I. $3 G, BTl g

. g4t ¢, G gl

Options :

1. % Q! 5B Y 11 T 111 SRR R &
2. % ol Frme SR v §

3. % Had FT5HY 11 IRV Bl §

4. ¢ B (B | TR HRAT R

General Ability2
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Group Id : 927759514
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Ability2
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775914427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. AllK are F.

II. All G are F.

II1. Some H are G.

Conclusions:

I. Some F are H.

II. Some G are K.

ITI. Some K are not F.

Options :
1. * Only conclusion II follows
2. % Only conclusion I follows

3. # Neither conclusion follows



4. % Only conclusion III follows

Question Number : 21 Question Id : 92775914427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (b U MU | 3T T Hy=1 &1 91 A, T1e 374 AE=a 1 a2t
Y oz 81t e o oiR fiR i & 6 fou o o O s, fou U wyi & SR &R gfaasa g

HY:

L9 K, FEI

II.H‘J-ﬂG,F%%

. $DH, GBI

fAep:

I.WﬁH%"l
IL. %3 G, K3l
L. $S K, F e g

Options :

1. % Had FHY 11 SR BT §

2. ¢ Had by [ 3TIRUT BT 3

3. % B1g Ht Fspd SR el AT 8
4. % Had (B [11 TR0 BT &

Question Number : 22 Question Id : 92775914428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All P are Q.

II. All D are E.

III. AIl E are Q.

Conclusions:

I. AIl P are D.



II. Some E are P.
III. Some Q are D.

Options :

1. % Both conclusion II and III follows
2. % Only conclusion I follows

3. ¥ Only conclusion III follows

4. % All conclusion follows

Question Number : 22 Question Id : 92775914428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § | 3T T 1 & 981 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g

HY:

LIt e QI

.9 D, ERI

L. g4 E, Q B

I.Gﬁf,D%!

IL. $SE, Pl
. 3 Q,D ]I
Options :

1. % QIFI FTSBY 11 T 111 S8R0 & &
2. % Had HY [ SO BT §

3. ¢ Had By 111 3R &l §

4. % i} Fsp Y SFRRUT Rl §

Question Number : 23 Question Id : 92775914429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.



Statements:

. NoYisZ.

II. All C are M.
III. Al Y are M.
Conclusions:

I. Some C are Y.
II. Some Z are Y.
III. NoMis Y.

Options :

1. #* Both conclusion II and III follows
2. % Only conclusion I follows

3. % All conclusion follows

4. % Neither conclusion follows

Question Number : 23 Question Id : 92775914429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 53 HYT 3R I dIe 3 HYA W 3NURd $3 Fpy 3T 7w B fou Ty &1 I8 7F, TR S 9 91d )
I i 811§ e U SfiR iR Freifa &% {3 3T e o @ fed, 3T T w2 & 3R W gfaaed g

DHY-:

L ®ig Wy, zT8 g
.9 c, Mgl

L gt y, M 3|
e

L$SC, Y3
IL$SZ Y Sl

1L &S WM, Y T8i g

Options :

1. % Q! FSBY 11 T 111 SRR X &
2. % Had (5HY [ IR0 HRl §

3. % it Feap e SRR vl §

4. ¢ B 1 FIspy SR TS BraT g

Question Number : 24 Question Id : 92775914430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the odd group of numbers from the given alternatives.
Options :

1. ¥ (89, 100, 124)

2. % (147, 158, 180)

3. % (63,74, 96)

4. % (159, 170, 192)

Question Number : 24 Question Id : 92775914430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&2 U fasredt & @ Temsit & favw a9 &l gfu|
Options :

1. ¥ (89, 100, 124)

2. % (147, 158, 180)

3. % (63,74, 96)

4. % (159, 170, 192)

Question Number : 25 Question Id : 92775914431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

6 |21 8 17 9116
670] 14 i 12> 910| 24

Options :
1. ¥ 879
2. % 860
3. % 762
4. % 790



Question Number : 25 Question Id : 92775914431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad us o fau e faemenl & 9 uy g (2) & RIM WR 3 dTell S=A1 &1 g
6 |21 8 |17 9116
670( 14 7123 910| 24

Options :
1. ¥ 879
2. % 860
3. % 762
4. % 790

Question Number : 26 Question Id : 92775914432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
10, 10, 15, 30, 7, 225

Options :
1.¥ 75
2. % 77
3.% 79
4, % 81

Question Number : 26 Question Id : 92775914432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforRad oy & <t 7S Yae & § qu 3f J1d S|
10, 10, 15, 30, ?, 225

Options :




1.¥ 75
2.% 77
3. %79
4. = 81

Question Number : 27 Question Id : 92775914433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
-5,-12,-28,-62,7?

Options :

1. ® —136

2. % 134

3. % —130

4.9 —132

Question Number : 27 Question Id : 92775914433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad wer o <1 71 e & 9 g $i 1d P |
-5,-12,-28,-62,?

Options :

1. % —136

2. % —134

3. % —130

4.9 —132

Question Number : 28 Question Id : 92775914434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Rectangle, Cylinder, Figure



Options :

(0o
w@

Question Number : 28 Question Id : 92775914434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 W AT ot -7 U U 9 & off & Ty o1 Tt ey HraT g |
3{Td, 9,
Options :



(0o
1. ®
19
@

©
@

Question Number : 29 Question Id : 92775914435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many car are not yellow?



Car

Options :
1.¥ 19
2.%9
3.% 12
4. % 13

Question Number : 29 Question Id : 92775914435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for R el Tel 82

Bk
Options :
1.¥ 19
2.%9
3.% 12
4. % 13



Question Number : 30 Question Id : 92775914436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement(s) is/are incorrect?
I. Total number of carrot are 47.
II. Number of tyre which are not white are 22.

Tl"'“' Cdrmt
.4
K
VA
S
e

White

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 30 Question Id : 92775914436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fad 7T 37 3R F YR R, Faffad 7 § & 91 sy 98 T8l 2787

. TSR & $d A& 47 5




I1. 98 TRR ol WG el o, B] G&AT 22 B

Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % AT I

Question Number : 31 Question Id : 92775914437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement(s) is/are correct?
I. Number of doctors which are not lawyer are 31.
II. Number of barbers which are doctors are 31.

Barber

Doctor

Options :
1. ¥ Only I



2. % Only II
3. ®* BothIand II
4. % Neither [ nor 11

Question Number : 31 Question Id : 92775914437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a2 T 3 3T F YR R, Fafefad # § oH WA Sy 981 2787
1. 98 ffrcge ol abid T8l &, 1 T=AT 31 8
11 9% T off ffbeep &, b1 T 31 €1
qE

Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 32 Question Id : 92775914438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement(s) is/are correct?
I. Number of male which are not female are 27.



II. Number of human which are neither male nor female are 10.

- Male Female

15 TN
8 9 (4 6 \2
NN [

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor I

Question Number : 32 Question Id : 92775914438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fad T 37 3RE & 3R WR, el § @ o WA By T 2720
I. 98 Y&V ol Aigal 761 &, 1 G127 5
I1. 98 TS S A1 8 GV § A1 81 Ofgen 8, 1 I= 10 8

&
o Higen

TEd

Options :

1. % BHad |



2. % BHad Il
R AGUIIEGI
4. % qIEIAIBI I

Question Number : 33 Question Id : 92775914439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the wrong figure from the given series.

Options :

A B4 6 IR




Question Number : 33 Question Id : 92775914439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁ«r@au&rﬁ &1 T SRgel | 9 e &n?ﬁraﬁgﬁm

X

Options :

%%@%




Question Number : 34 Question Id : 92775914440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?
AR AR A

J R
J| ]

F
B

-
™ O=
)

Options :

1. ¥

3. %




Question Number : 34 Question Id : 92775914440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI I IR MBI UY MBI & UfeRed DI TR B2
AR AR A
J R
J|
2 F
K N H

—
@)
)

Options :

1. ¢




Question Number : 35 Question Id : 92775914441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
R K K
K
F I L
1. %
G C 2
L 3
T AV
2. %

3.¢¥



Question Number : 35 Question Id : 92775914441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad uy H, fdu 7 fasedl ® 4 faww siepfd &1 gHT|

Options :
R K K
K
F I' L
1. %
G C 2
A F 3
T AV
2. %
F & B
E E
E ¢ ©

3.¢



Question Number : 36 Question Id : 92775914442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

P N
N LS LS

2. %



Question Number : 36 Question Id : 92775914442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad us &, fu 7 fawedl & 9 fawd sepfd &1 gl

Options :




D

(h

| P
G

Question Number : 37 Question Id : 92775914443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

O

Options :




1. ¥

Question Number : 37 Question Id : 92775914443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7S IR apfaal § T 39 IR i & g fora & uy enepfa FAfga B



O

Options :

AR B




Question Number : 38 Question Id : 92775914444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. % 4
2.9 8
3.%9
4. % 10

Question Number : 38 Question Id : 92775914444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ I Siepfa B fha Brya &2

Options :
1. % 4
2.¥°8



3.%9
4. % 10

Question Number : 39 Question Id : 92775914445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :

I
.
2. #




4.

Question Number : 39 Question Id : 92775914445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR AP U 3Mpfd & Ufaey o G i

Options :




4.9

Question Number : 40 Question Id : 92775914446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

: VA
t &N =l
. =]

Options :

AV VA
| S— . —
DAA o

I_Il_ll_l
V A AV




VA[CJAV
Ll  —

AA
ollv vl
AvIva

3. %

VA AV
I:IEI:I

GDVV o

AV V A

4. v

Question Number : 40 Question Id : 92775914446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #®

4. ¢

AV VA
e | o |
onnn o

I_I|_|I_I
vV A AV

VA AV
Eal ]

oﬂi?ﬂo
i —
AV VA
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Question Number : 41 Question Id : 92775914447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which dance belongs to Jharkhand?
Options :

1. # Karaga

2. ¥ Santhal



3. # Kullu Nati
4. % Khoria

Question Number : 41 Question Id : 92775914447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifad 7 3 B 91 70 IRES | F&fa 89
Options :

1. % DM

2. ¢ JUTd

3. % Pogl A

4. % @i

Question Number : 42 Question Id : 92775914448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a stringed instrument?
I. Santoor
II. Gongs
II1. Violin

Options :

1. % Iand II
2. % Il and III
3.% Tand III
4, % Only 1

Question Number : 42 Question Id : 92775914448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofifed & @ ®F 91 Us dR g 82
L A9R



I 7T
111, 9rafer

Options :

1. % 1dYT 1

2. ® 11 dUT I
3.¢ 1dYUT I

4. % Had |

Question Number : 43 Question Id : 92775914449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mohiniattam dance belongs to

Options :

1. ¥ Kerala

2. # Andhra Pradesh

3. % Assam

4. % Tamil Nadu

Question Number : 43 Question Id : 92775914449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aifg-tered I RECIDGA

Options :

1. ¥ R

2. % 3fY U
3. % 3{4H

4. % g

Question Number : 44 Question Id : 92775914450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following pair of state — festival is NOT correct?
I.Bihar — Baishagu
II. Kerala — Onam

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 44 Question Id : 92775914450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I — AR BT Fafifad # 3 & a1 g 981 781 82
1. f98R - s=1mT

I1. % - 30H

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl

4. % qEIIATE I

Question Number : 45 Question Id : 92775914451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is located in Telangana.

Options :

1. ¥ Golconda Fort
2. # Bekal Fort

3. # Chola Temple
4. ¥ Gagron Fort

Question Number : 45 Question Id : 92775914451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

JeTT A R g

Options :

1. ¢ Tlieib ST <1 fobedl
2. % qabed fabel

3. % Il iR

4. % AR fabal

Question Number : 46 Question Id : 92775914452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Revenue deficit =

Options :

1. ¥ Revenue expenditure — Revenue receipts
2. % Revenue expenditure + Revenue receipts
3. # (Capital expenditure — Revenue receipts

4. ® Revenue Expenditure + Capital receipts

Question Number : 46 Question Id : 92775914452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIol¥d YT =

Options :

1. ¢ oI Y - IToRd UTferar

2. % oG Y + o1 Ut

3. % UoIlTd oY — ToTed Wifar

4. % TG oY + GeiTd wferar

Question Number : 47 Question Id : 92775914453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true about Reserve Bank of India?
I. The supply of money is regulated by the Reserve Bank of India.
II. It acts as a banker to the Government of India.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 47 Question Id : 92775914453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HR1g Roid e & T & Fafafea 7 ¥ s a1 sy 98 32
1. g&1 &1 A1 &I YR Rord §& gR1 fafafia i S g
11. U8 HRd PR b 9P & TU H B AT |

Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I I

Question Number : 48 Question Id : 92775914454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The point on the supply curve at which a firm earns normal profit is called the
I. Break-even Point
II. Shut Down Point

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II




Question Number : 48 Question Id : 92775914454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfc aop & ford foig IR U W ATURT AT 3Hfold Hcll & 98 FHEara gl
. ATY-3feY fag
1. TG sic foig

Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 49 Question Id : 92775914455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the size of the Rs 2000 Mahatma Gandhi (New) Series note?
Options :

1. % 69 mm x 169 mm

2. % 69 mm x 166 mm

3. % 66 mm x 166 mm

4. % 66 mm x 169 mm

Question Number : 49 Question Id : 92775914455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2000 ¥ & HETHT el (AT) 47T e BT HTHR T 82
Options :

1. % 69 THUH. x 169 THUH,

2. % 69 UHUH. x 166 THUH.

3. ¥ 66 THUH. x 166 TH.UH.



4. % 66 THUH. x 169 THUH.

Question Number : 50 Question Id : 92775914456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding the Flexible exchange rates system?
I. This exchange rate is determined by the forces of market demand and supply.
II. It is also known as pegged exchange rate system.

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. #® Neither I nor II

Question Number : 50 Question Id : 92775914456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A @R & ded o fafafed § 9 o a1 sud gl 82

1. 39 faf 7 @R &1 FeRor SR 0 3R gfd 1 wifdaal gR1 8T 8
11. 39 Sfferepiferd fafea &z yumrelt it w1 S 5|

Options :

1. ¥ Had 1

2. % Hhad Il

3. % (@Ml

4. % AIGIATEII

Question Number : 51 Question Id : 92775914457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which layers of earth is responsible for tremors?
Options :

1. #* Outer core



2. * Inner core
3. % Crust
4. % Mantle

Question Number : 51 Question Id : 92775914457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt B P H Helg Y & fou ITRard g2
Options :

1. % SRIPIS

2. % 3HIdRD DI

3. ¢ Yuuel

4. % YIAR

Question Number : 52 Question Id : 92775914458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of phenomenon — effect is correct?
I. Atmospheric refraction — Twinkling of stars

II. Atmospheric refraction — Tyndall effect

II1. Scattering of light — Colour of clear sky being blue

I'V. Scattering of light — Advance sunrise and delay sunset

Options :

1. # Tand IV
2. % Il and IIT
3. % Tand III
4, ® [ dUTIV

Question Number : 52 Question Id : 92775914458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geT - WHIG &1 HEfaiad & & 91 3w 981 82



. IGHSHY 3Udc — R} &1 fieafedr

I1. IRgHSY 3fuaa- - fesa gua

T11. YHTRT BT Y10 — T SHTHTR T [T el g
IV, U1 &1 Y1 — i afea qur facifad gafwa

Options :

1. % 1dUT 1V
2. % IIdYTI
3.9 Tand III
4, % I dUTIV

Question Number : 53 Question Id : 92775914459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an annelida?
I. Leech

II. Planaria

III. Tape worm

Options :

1. % Only II
2. % Il and III
3. % Tand III
4. % Only III

Question Number : 53 Question Id : 92775914459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRaar & § &1F 91 U THifersT el 82
ISl

1L TAfEn

111 <TaH

Options :

1. % BHad I

2. I dUTIII



3. % [ dUTIII
4. % Had III

Question Number : 54 Question Id : 92775914460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding metals and non-metals is NOT correct?
I. Silver is the most ductile metal.

II. Gallium and Caesium have high melting points.

II1. Alkali metals have high densitics.

Options :

1. * Only I

2. % Only II

3. % Only III
4.+ 1, 1l and III

Question Number : 54 Question Id : 92775914460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YTq 3R 31T &b T #f Fufafad & § o1 1 sy wel T8l 82
1. Tic) qay % T YT ¢ |

11 Ty 3R Sy o1 Ta-ie dgd SaTel 8lal |

I11. &R Y13 BT Icd TG BT & |

Options :

1. % $Had 1

2. % BHad Il

3. % had Il

4.4 1,11 QYT I

Question Number : 55 Question Id : 92775914461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The tropic of Capricon lies at

Options :

1. ¥ 23(1/2)°S
2. % 23(12)'N
3. % 66(12)°S
4. % 66(1/2)'N

Question Number : 55 Question Id : 92775914461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHR 3Gl R R eI
Options :

1. ¥ 23(12)g

2. %23(12)'3

3. % 66(12)°Q

4. % 66(12)'3

Question Number : 56 Question Id : 92775914462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ionosphere is part of which layer of atmosphere?
Options :

1. ¥ Thermosphere

2. % Mesosphere

3. % Stratosphere

4. ¥ Troposphere

Question Number : 56 Question Id : 92775914462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AHST IIgHS P B Ul TR BT UH HIT ]2




Options :

1. ¢ dIgTHSd
2. % gYHsd

3. % gUAgHSA
4, % gnyrded

Question Number : 57 Question Id : 92775914463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Millets is correct?
I. They are also known as Coarse grains.
II. It can be grown on moist areas which hardly need irrigation.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 57 Question Id : 92775914463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfiRed & Q &1 91 By fiee  ded A i &2
1. I8 A 3 & U H t 519 ord B
11. T8 A dR 3T, &7 § ITMT T P HRUT 5P (78 RIS b1 IhHdT Tel glal o

Options :

1. % PHadl
2. % Had Il
3. 1AUT ISl
4. % 18I

Question Number : 58 Question Id : 92775914464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which layer of environment protects us from the harmful rays and scorching heat of the sun?
Options :

1. # Biosphere

2. % Atmosphere

3. % Hydrosphere

4. % Lithosphere

Question Number : 58 Question Id : 92775914464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TITaRUT BT S Ul ORA G BT Fera! arett T4 Td BIHBHRS bRl & FHRY &7 Pl 62
Options :

1. % SgHsd

2. ¢ qIgHS

3. % S[HSA

4. % RAHSA

Question Number : 59 Question Id : 92775914465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Gandhiji withdraws the Non-Cooperation movement?
Options :

1. ¥ 1922

2. % 1919

3. % 1930

4. % 1927

Question Number : 59 Question Id : 92775914465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g oo & el St 3 SgAINT SMigIA aTuy A1 &1 Baar fhar ur



Options :
1. ¥ 1922
2. % 1919
3. % 1930
4. % 1927

Question Number : 60 Question Id : 92775914466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lucknow Pact was signed in

Options :
1. ® 1919
2. % 1905
3.4 1916
4. % 1907

Question Number : 60 Question Id : 92775914466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AN R T gIER g U
Options :

1. * 1919

2. % 1905

3.4 1916

4. % 1907

General Awareness2

Group Number : 4
Group Id : 927759516
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 927759552
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759685
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775914467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding “Kitab UL-Hind” is correct?
I. It was written by Al Biruni.
II. It was written in Arabic Language.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. # Neither I nor II



Question Number : 61 Question Id : 92775914467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 &F 91 Sy fhdie 3a-ft & ddy T gl 82
I. I8 3d-foel o gRT fordt 775 ot |

1. 9% 3RalT U1 H fordl 775 ot

Options :

1. % Had I

2. % Hhad Il

3. 1AYT I gl

4. % AGIAIGHI

Question Number : 62 Question Id : 92775914468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the sultan of Delhi in 1266-1287 period?
Options :

1. % Raziyya

2. ¥ Ghiyasuddin Balban

3. # Alauddin Khalji

4. % Khizr Khan

Question Number : 62 Question Id : 92775914468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1266-1287 % T B faeel! &1 Fool B U1?
Options :

1. % foran

2. TGS Seie

3. % S{ATIEM Weroll

4. % I @H



Question Number : 63 Question Id : 92775914469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who raised the slogan “Freedom is my birth right and I shall have it”?
Options :

1. ¥ Bal Gangadhar Tilak

2. % Mahatma Gandhi

3. % Lala Lajpat Rai

4. # Rabindranath Tagore

Question Number : 63 Question Id : 92775914469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I IRT o R ISR § 3R 7 3§ A g I8 ART foraq feam i
Options :

1. ¢ §Td TR foreie

2. % TEIAT M

3. % Tl oISy d XTI

4. % A MR

Question Number : 64 Question Id : 92775914470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Playing with Fire’ is the autobiography of which cricketer?
Options :

1. # James Anderson

2. ¥ Nasser Hussain

3. # Lasith Malinga

4. ¥ Shane Warne

Question Number : 64 Question Id : 92775914470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TS 9 BIR oy fohohex b1 SMTaTh T 52
Options :

1. % SRy TS

2. ¢ TIRR gA

3. % ARy Afem

4. % QTH

Question Number : 65 Question Id : 92775914471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the Oscars 2021 for Actor in a Leading Role?
Options :

1. ¥ Anthony Hopkins

2. # Riz Ahmed

3. # Chadwick Boseman

4. % Gary Oldman

Question Number : 65 Question Id : 92775914471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST A H ST o feT 3RDR 2021 T a1 Sitar
Options :

1. ¢ Wyl glufdg

2. % X1 3rgHe

3. % BrSfd® SIaA

4. % 3 SNcEHT

Question Number : 66 Question Id : 92775914472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement is true regarding NITI Aayog?
I. NITI Aayog is the premier policy ‘Think Tank’ of the Government of India.
II. It was formed in 2015.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 66 Question Id : 92775914472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i smar & e & Fafafed & 9 &F 91 &3F 98 82

1. fifq T it & o YRd R &1 ugE Uw ¢ Bl
1. ST TG 2015 H g1 UTI

Options :

1. % Had I
2. % HAd Il
3. QYT ISl
4. % qEIIATE I

Question Number : 67 Question Id : 92775914473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the world's largest neuromorphic supercomputer designed and built to work in the same way a human brain does?
Options :

1. # Frontera

2. # Tianhe-2A

3. % SpiNNaker

4. ¥ Sequoia

Question Number : 67 Question Id : 92775914473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T &% TR §8 RMMh S R HEER HT M 341 § o A AT &1 dRe W B a3 & fore fewmga oiR fAftfa forar mar g2

Options :

1. # Frontera
2. # Tianhe-2A
3. ¥ SpiNNaker
4. ¥ Sequoia

Question Number : 68 Question Id : 92775914474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book ‘The Third Pillar’?
Options :

1. # Y.V. Reddy

2. ¥ Raghuram Rajan

3. ¥ Urjit Patel

4. # Shaktikanta Das

Question Number : 68 Question Id : 92775914474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Y R T & A DI 82
Options :

1. % gT%. ot YS!

2. ¥ XYRTHISH

3. % 3foid ued

4. % QfdIehid G4

Question Number : 69 Question Id : 92775914475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who has been appointed as the first Lokpal of India?
Options :

1. ¥ Pinaki Chandra Ghose

2. % Abhilasha Kumari

3. % P K Mohanty

4. ¥ Aditya Mishra

Question Number : 69 Question Id : 92775914475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & Ugd didbuTd & &9 § Tl fFgad fear man g2
Options :

1. ¢ oot i Uy

2. % S{IHAS HHAR]

3. % O . Higd

4, % Ifc favgn

Question Number : 70 Question Id : 92775914476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been conferred with the Order of the Rising Sun in April 2021?
Options :

1. # Ramesh Mishra

2. % Shyamala Ganesh

3. % Ratan Kumar

4, % Amrit Kumar

Question Number : 70 Question Id : 92775914476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2021 H TS 3110 € ASHORT I T ford grnfAa fosar mar g2



Options :

1. % O s

2. ¥ HAT U
3. ¥ XA PHR
4. % HHd PHR

Question Number : 71 Question Id : 92775914477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India's first 3D printed house has been built in campus.

Options :

1. ¢ IIT Madras

2. # IIT Bombay
3. % IISc Bangalore
4. #® 1IT Delhi

Question Number : 71 Question Id : 92775914477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd &1 Ugdl 3D fiicg TR URR & SR T B
Options :

1. ¢ 3. 3. . U™
2. % 373, 3MTs. 3. Ir
3. % 313, 38, T, . STEAR
4. % 313, M8, . e

Question Number : 72 Question Id : 92775914478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has been appointed as the Finance Secretary in April 20217
Options :



1. # Ajay Bhushan Pandey
2. # Tarun Bajaj

3. ¥ T.V. Somanathan

4. % Ajay Seth

Question Number : 72 Question Id : 92775914478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 2021 ® o Ofera & w0 H ford fged fovar man g2
Options :

1. % 3T YYUI UiS

2. % U dulls]

3. ¢ &9 FEATRE

4. % ATY IS

Question Number : 73 Question Id : 92775914479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the Indian constitution deals with elections?
Options :

1. % XVII

2. % XVII

3. % XIV

4. ¥ XV

Question Number : 73 Question Id : 92775914479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR HfAYT BT D1 I HIT et 3 deferd g2

Options :
1. % XVII



2. % XVII
3. ¥ X1V
4. ¥ XV

Question Number : 74 Question Id : 92775914480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following writ is mentioned in the Indian constitution?
I. Habeas Corpus
II. Prohibition

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 74 Question Id : 92775914480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad 3 9 & @ Re &1 aufq yRdg a3 82
1. st gaefimum
IRIGLE]

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I
4. % qEIIATR I

Question Number : 75 Question Id : 92775914481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement regarding Parliament is correct?



I. Article 83 of the Indian constitution deals with Duration of houses of parliament.
I1. Article 84 of the Indian constitution deals with Qualification for membership of parliament.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 75 Question Id : 92775914481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 7 B9 91 Sy TJue &b aH H T8t 72
. YR Hfae™ &1 3Jedg 83 W¥e & ol oI afd I Iafd g
1. HRA AU &1 3wse 84 TG &1 &xgdl & forg 3fgar ¥ Jefa ]

Options :

1. % Had 1
2. % HAd Il
3. [ QYT I gl
4. % 1B 1

Question Number : 76 Question Id : 92775914482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Supreme court is correct?
I. Article 124 of the Indian constitution deals with Establishment and Constitution of Supreme court.
II. Article 125 of the Indian constitution deals with salaries of Judges.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 76 Question Id : 92775914482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed & I ®F 91 HY I=ad ATy & g4 § 961 87
. YRS TfAUT &7 3igede 124 IqH AT B RITIAT 3R 769 9 Hafid g |
1. HRAH AU &1 sifwse arandi=i & 9a- ¥ Jefid g1

Options :

1. % FHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 77 Question Id : 92775914483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Seventy fourth amendment of the Indian constitution take place?
Options :

1. ¥ 1992

2. % 1998

3. % 2002

4. % 1990

Question Number : 77 Question Id : 92775914483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT T3 1 digwRal Yaure Tne forg adf & g um
Options :

1. ¥ 1992

2. % 1998

3. % 2002

4. % 1990



Question Number : 78 Question Id : 92775914484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the drivers championship in 2020 Formula 1?
Options :

1. ¥ Lewis Hamilton

2. # Valtteri Bottas

3. % Sebastian Vettel

4. # Charles Leclerc

Question Number : 78 Question Id : 92775914484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020 WIHaT | H STZad fR-RY St
Options :

1. ¥ q59 gieeT A

2. % gleck dleE A

3. % JIRETTdgA

4. % I Al A

Question Number : 79 Question Id : 92775914485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a sport of Summer Olympics?
Options :

1. # Trampoline

2. # Rugby

3. ¥ Sepak takraw

4. # Fencing

Question Number : 79 Question Id : 92775914485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 frebTed Slicfis o1 dd Ta o7

Options :

Question Number : 80 Question Id : 92775914486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of sports — sportsperson is correct?
I. Hockey — Mark Chapman
II. Swimming — Toni Kroos

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II

Question Number : 80 Question Id : 92775914486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - fars! &1 fafefad o ¥ &1 31 gm I8t 82
I. B1h! - | I

1. RTPT - T b1

Options :

1. % pad [

2. % had II

3. % 1T gl

4. ¢ AGIIATEI



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 81 Question Id : 92775914487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of *
Options :

1 1
(625)4 x(2401)¢ +700-0.005

Arithmetic Abilityl

5
927759517

Arithmetic Abilityl

927759553
1

Online
Mandatory
20

20

20

Yes

1
927759686
Yes



1.* 0
2.90.045
3. % 045
4. % 45

Question Number : 81 Question Id : 92775914487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1
[625]4 x(2401}4 + 700 —-0.005 WII'F[?RIT%‘?
Options :
1.*0
2.9 0.045
3. % 045

4. % 45

Question Number : 82 Question Id : 92775914488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two numbers is 3:5 and their Least Common Multiple is 90. What is the sum of these two numbers?
Options :

1. ¥ 48

2. % 96

3. % 40

4. % 60

Question Number : 82 Question Id : 92775914488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TREAT3N BT 3UT 3:5 T TUT ST TYTH THITAH 90 3| 37 &l TSN BT T T 82

Options :



1. ¥ 48
2. % 96
3. % 40
4. % 60

Question Number : 83 Question Id : 92775914489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P is that greatest number which will exactly divide 325, 429 and 546, then what is the sum of digits of P?
Options :

1. %7

2.%9

3.% 8

4. ¥ 4

Question Number : 83 Question Id : 92775914489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g p I8 T ST TBAT § Sl 325, 429 TUT 546 B! QUIa: fAHTRTd BT, I P & Sich! &1 I 1 82
Options :

1. %7

2.%9

3. % 8

4.9 4

Question Number : 84 Question Id : 92775914490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the product of two numbers is 4056 and their Highest Common Factor is 26, then how many distinct pairs of two such numbers are possible?
Options :

1.¥2

2. %3



3.% 4
4. % 1

Question Number : 84 Question Id : 92775914490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 W31 BT [UHHE 4056 § 3R SHT HeTH THTAS 26 8, A1 TH ol TeAmsfi & fham - g gva 82
Options :

1. %2

2.%3

3.% 4

4. % 1

Question Number : 85 Question Id : 92775914491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement(s) is/are correct?

I 2

. 1 )
[. If K =5 + 26, then the value of [ K+ E i1s 100.

II. Least Common Multiple of (2/3). (4/3) and (5/6) is (20/3).

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 85 Question Id : 92775914491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=R # O 9 g a7 38 g

-

. I ] Fa
LT K=5+26 g.ar [K+EJ T AT 100 &1

IL (2/3). (4/3) AT (5/6)FT TEcAH FATIEH (20/3) 81

Options :

1. % FHad I

2. % Had Il

3. ¢ 1 qUT I A
4. % qEIIATR I

Question Number : 86 Question Id : 92775914492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of an article is Rs. 1050. If a discount of 25 percent is given, then what will be the selling price of the article?
Options :

1. ® Rs. 785

2. ¥ Rs. 787.5

3. ¥ Rs. 636.5

4, ® Rs.726.5

Question Number : 86 Question Id : 92775914492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I 1 Sifhd Ted 1050 T0T g1 Al 25 URIRIG BT Fe &t 9, < a¥g BT [ashd Yo &1 gRTT?
Options :

1. % 785300

2. ¥ 787.5 %W

3. % 6365300




4. % 726530

Question Number : 87 Question Id : 92775914493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of three numbers is 85/3. If first number is 5/4 of the third number which is 20 less than second number, then what is the value of
second number?

Options :
1. % 20
2. %27
3. % 25
4. 40

Question Number : 87 Question Id : 92775914493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TRemail o1 3 85/3 1 A gt TRe, fIRIS) T &t 5/4 § Siifah guRt TReAT § 20 HH &, < GO TS BT {1 a1 72
Options :

1. % 20

2. %27

3. % 25

4. ¥ 40

Question Number : 88 Question Id : 92775914494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following have highest profit?

Options :

1. # Marked price : selling price = 4 : 3, cost price : marked price =6 : 11
2. #% Marked price : selling price = 5 : 2, cost price : marked price =3 : 4
3. % Marked price : selling price = 7 : 6, cost price : marked price =2 : 5
4. ¥ Marked price : selling price = 10 : 7, cost price : marked price = 8 : 11



Question Number : 88 Question Id : 92775914494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiad 7 @ oy fead sifdean 32

Options :

1. % 3ffbd oI : [ApT G =4 : 3, U G : 3ffbd =8 : 11
2. % Jfbd g : [Aha Qe =5 : 2, A oI : 3ffcbd Gei =3 : 4
3.¢ Sifbad g : [ahd g =7: 6, PAHA : ifbd qed=2: 5
4, % 3ifbd g : [AhT e = 10: 7, U G : 3ifbd e =8 : 11

Question Number : 89 Question Id : 92775914495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a trouser and a jacket are in the ratio of 2 : 5. The shopkeeper gives 20 percent discount on the trouser. If the total discount
offered on both of them together is 30 percent, then what is the discount percentage offered on the jacket?

Options :

1. # 30 percent
2. % 34 percent
3. % 38 percent
4. % 42 percent

Question Number : 89 Question Id : 92775914495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Tde auT U Sidbe BT 3ifehd Hed 2 ¢ 5 & U A 81 PHER Tded W 20 Ua<d ge a1 81 afe 37 a1 W e § 718 $d ge
30 UfA=rd 8, A Sidhe W faram Ufa=rd &1 §e 3t 718 82

Options :

1. % 30 gfawd
2. ¢ 34 gfa=rd
3. % 38 gfa=rd
4. % 42 gfa=rd




Question Number : 90 Question Id : 92775914496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratan scored 30 percent marks in an exam and failed by 12 marks. If he scores 45 percent marks, then he gets 3 marks more than passing marks.
What should be the passing marks for the exam?

Options :
1. % 40
2. % 39
3.¥ 42
4. % 41

Question Number : 90 Question Id : 92775914496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A U Tten H 30 UARId 3fch YT far T 12 3feh! I S0 81 71| IS 98 45 UfA=Id 3idh U HRd1 €, df 39 30l a1 & forg
TTWE 31 I 3 3 3w U gid 71 Tten & I<Hof 811 & e snaxass sics Fm g1 =nfew?

Options :

1. % 40

2. % 39

3.¥ 42

4. % 41

Question Number : 91 Question Id : 92775914497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number is first increased by 250 percent, then decreased by 70 percent and then again decreased by 60 percent. If the number becomes 8568,
then what was the initial number?

Options :

1. ¥ 20400
2. % 21600
3. % 19200



4. * 18800

Question Number : 91 Question Id : 92775914497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T WA HI Ugd 250 U< J T/ Sl 7, fhR 70 Ufa=ra § geran Srdn € 99T fhr U 60 Ufa=Id & ger SiTdl § | 3fe T 8568 B
STl @, o SR T a1 Y

Options :

1. ¢ 20400

2. % 21600

3. % 19200

4. % 18800

Question Number : 92 Question Id : 92775914498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. A is first increased by 30 percent and then again increased by 40 percent. The total percentage increase will be 82 percent.
II. If price of rice is increased by 50 percent, then a person should decrease his consumption by 50 percent to keep the expenditure same.

Options :

1. ¥ Only I

2. % Only II

3. %* BothIand II
4. # Neither I nor II

Question Number : 92 Question Id : 92775914498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad & A o9 91 U= g8 82
I A P USE 30 UTARId I ST 747 § 9UT AIRT 39 40 UTA<d T S/ 141 | | $d Ufawid gia 82 ufa=id 8|
11 Tfc =Tad o G ol 50 Uid=RId I 911 SiY, o Ueh i o1 o0d Wi X8 o forT 310+ @ud o 50 Ufc=rd o Hd w1 ueiil|

Options :




1. ¥ Had 1
2. % Had II
3. % [QYUT I gl
4. % FrAIATA

Question Number : 93 Question Id : 92775914499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length, breadth and height of a cuboid are in the ratio of 10 : 7 : 5. Length and breadth are increased by 60 percent and 50 percent respectively. If
height is decreased by 80 percent, then what will be the percentage change in the volume of cuboid?

Options :

1. ¥ 48 percent increase
2. % 52 percent decrease
3. % 52 percent increase

4. ® 48 percent decrease

Question Number : 93 Question Id : 92775914499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ITH $I e, AISTS AU $aTs BT UM 10 : 7 : 5 5| AEls aUT AISTs I HHRT: 60 TRIT aUT 50 UA=Id & S/ T 8 | 3G $ars
&1 80 UT=Td ¥ IS STl &, 1 ITH & M1 | fora Uf=Td &7 9&efa R

Options :

1. % 48 Ufa=rd 9fg

2. ¢ 52 Gfcr=Id S

3. % 52 yfcRrd gfg

4. % 48 gfd=rd HHI

Question Number : 94 Question Id : 92775914500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A horse is sold for Rs. 20000 at the loss of 20 percent. What is the cost price of horse?
Options :



1. ¥ Rs. 25000
2. # Rs. 24000
3. ¥ Rs. 26000
4. % Rs. 22000

Question Number : 94 Question Id : 92775914500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T °IS I 20 U= ST 8T TR 20000 FUY & 01 7T 81 UTS BT 0 Hed T 87
Options :

1. ¢ 25000 3T

2. % 24000 3T

3. % 26000 3T

4. % 22000 3T

Question Number : 95 Question Id : 92775914501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of 14 tables is same as the price of 12 chairs. Price of 8 chairs is same as the price of 3 sofas. Price of 5 sofas is same as the price of 28
stools. If price of 2 stools is 800, then what is the price of 12 tables?

Options :
1. # 8240
2. % 8540
3. ¥ 8640
4, % 8840

Question Number : 95 Question Id : 92775914501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

14 TS 1 BT 12 RG] B BT S TAH g | 8 FRITI B BT 3 W] Bt BT b THH & | 5 ThI B BT 28 Il B HIAd & THM
21 3% 2 Tl B HIAd 800 &, T 12 ASN B HIAd T 82

Options :




1. * 8240
2. ® 8540
3. ¥ 8640
4. % 8840

Question Number : 96 Question Id : 92775914502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anil bought 50 kg wheat of type A at the rate of 7/kg and 45 kg wheat of type B at the rate of 5/kg. He mixed both the types of wheat and sold
the mixture at the rate of 6.50/kg. What was his profit or loss in this transaction?

Options :

1. ¥ 7.4 percent profit
2. % 9.3 percent loss
3. % 9.3 percent profit
4. % 7.4 percent loss

Question Number : 96 Question Id : 92775914502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 7 7/ B R Y UBR A BT 50 U g 3R 5//F B R Y UBR B BT 45 fHU1 18 W11 3T SH1 UBR & g & i faam siR
o801 D1 6.50/fHU1 B G W 97 {311 $H TH-a T b1 1Y 1 g1 -1 o

Options :

1. ¢ 7.4 Gfa=rd oy
2. % 9.3 gfaerd g1 4
3. % 9 3 gfaRrd A
4. % 7.4 9fq=rd g1

Question Number : 97 Question Id : 92775914503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B enter into a partnership for same duration such that 4 times of A’s investment is equal to 5 times of B’s investment. If the total profit is
Rs. 18000, then what is the share of A?



Options :

1. ¥ Rs. 10000
2. % Rs. 8000
3. # Rs. 18000
4. % Rs. 12000

Question Number : 97 Question Id : 92775914503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TUT B JHH JHT & o0 U AMUR & §9 UHR MBI & [ A & Fa=I T4 7T, B & =1 & 5 THT & SRISR 5 | Al Fot a1 18000
U g, A A BT e an g2

Options :

1. ¢ 10000 3T
2. % 8000 TYY
3. % 18000 3T
4. % 12000 304

Question Number : 98 Question Id : 92775914504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of Rs. 5670 is divided among P, Q and R such that P’s share is 4 times Q’s share and R’s share is one-fourth of P’s share. What is the
share of R?

Options :

1. ¥ Rs. 945
2. % Rs. 3780
3. #® Rs. 1595
4. % Rs. 1170

Question Number : 98 Question Id : 92775914504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5670 TUY B AR BT P, Q AYTR & &1d 39 UHR diel 71 ¢ fob P H1 R Q & 3T &7 4 T[T TUTR &7 TR P & 3 &1 Uh-AIUTE B |



R &1l 32
Options :

1. ¥ 945300

2. % 3780 34U
3. % 1595 309
4. % 1170 309

Question Number : 99 Question Id : 92775914505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mixture of milk and water in three cups are inratio 5: 3,4 : 5, 7 : 9 respectively. 16 liters of first and 18 liters of second cup are taken. How
much quantity from third cup is to be taken so that final mixture from the three cups will have milk and water in ratio 1 : 1?

Options :

1. ¥ 16 litres
2. % 18 litres
3. # 12 litres
4. % 10 litres

Question Number : 99 Question Id : 92775914505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I S0 T U SR U & YOI SR 5:3,4:5,7: 9 UM B ¢ | U8 U I 16 Tex dUT ORI HY ¥ 18 e ol I1d § | s du o
for =it am o+t e fored il Ul O Sifae fysor o g quT Uit &7 3uTd 1 : 1 81 STg?

Options :

1. ¥ 16 A’

2. % 18Tl

3. % [2WIcR

4. % 10Tl

Question Number : 100 Question Id : 92775914506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is correct?

I. Ages of A and B are in ratio 6 : 5. If, 3 years ago, theirs ages were in ratio 17 : 14, then the sum of there present ages is 99 years.

II. Ages of P and Q are in ratio 2 : 3. Ages of Q and R are in ratio 4 : 5. The sum of there ages is 70 years. After 6 years, age of P, Q and R will be
ratio 11 : 15 : 18.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 100 Question Id : 92775914506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofea & § o9 W O 82
L AT B ST HI UM 6: 581 TG 3 T8 Yd, IAD! MY & U A 17 : 14 oY, A I IJHMH ST HT S1ST 99 a9 g |
ILPANMQHI G 6:5F FTAAH G| QAUTR BT 34 : 5P SJUTT A g1 I MG BT NS 70 I8 g | 6 TY YT, P, Q TATR BT 3 11 -

15 : 18 b 3{Urd U g1l

Options :

1. % Had |
2. % Had I
3. ¢ 1 AU Gl
4. % qEIIATR I

Arithmetic Ability2

Group Number : 6

Group Id : 927759518
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 927759554
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759687
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775914507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the compound interest (compounding annually) received on a certain sum for 2 years at the annual rate of 20 percent is Rs. 1815, then how
much simple interest will be received on the same sum for the same time period at same rate of interest?

Options :

1. # Rs. 1420
2. % Rs. 1650
3. #* Rs. 1550
4. % Rs. 1750

Question Number : 101 Question Id : 92775914507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 20 Ufawrd & aiffies a3 ¥ 2 a¥ & e v FAfEd Af wR e foean o asdfs O (@ftfes Ao @) 1815 303 8, df 90 IR WR
A THYT 3{afd o ot <161 ot UM &R fobdHT1 TR STt Ured ghm?




Options :

1. % 1420 300
2. ¥ 1650 39U
3. % 1550 390
4. % 1750 30

Question Number : 102 Question Id : 92775914508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of profit earned by selling an object in Rs.524 is equal to the amount of loss suffered by selling it on Rs.452. What is the cost price
of the object?

Options :

1. ¥ Rs. 480
2. % Rs. 500
3. % Rs. 485
4. ¥ Rs. 488

Question Number : 102 Question Id : 92775914508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

524 ¥ ¥ fohrl G o1 SR SHfoTd AT DT MY, I 452 T9Y R 9 J g5 1 1 AT & RIS g | I BT AN Hed 1 /2
Options :

1. % 480 39U

2. % 500 3YY

3. % 485307

4. ¥ 488 3T

Question Number : 103 Question Id : 92775914509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man invested 1/5 part of his capital at the annual rate of 6 percent and remaining part at the annual rate of 10 percent. If his annual income in
the form of interest is Rs. 1012, then how much was the capital?



Options :

1. # Rs. 5500
2. % Rs. 10000
3. ¥ Rs. 11000
4. % Rs. 13000

Question Number : 103 Question Id : 92775914509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fad = 3T Goht BT 1/5 HIT 6 Wia=Td &1 aTfiies a2 & SR AT HET 10 UTI=Id &1 a1 o ¥ a1 fovan| afe <o & &9 3 39!
qffes 3 1012 ¥ B, A1 goht faramt ot

Options :

1. % 5500 30
2. % 10000 3T
3. ¢ 11000 394
4. % 13000 304

Question Number : 104 Question Id : 92775914510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit can cover a distance of 500 km in 10 hours. In how much time will he cover a distance of 700 km?
Options :

1. # 20 hours

2. # 7 hours

3. % 14 hours

4. * 18 hours

Question Number : 104 Question Id : 92775914510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T 500 fm . B A BT 10 g T T BT 81 98 700 b 1. B U g8 Bl foba T & o 2

Options :




1. % 20€C
2. % 79C
3.¢ 14°¢
4. % 18°C

Question Number : 105 Question Id : 92775914511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of a boat in upstream in 10 km/hr. If the boat can cover a distance of 300 km in 15 hours in downstream, then what is the speed of stream?
Options :

1. ¥ 5 km/hr

2. % 15 km/hr

3. % 20 km/hr

4. % 10 km/hr

Question Number : 105 Question Id : 92775914511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T =1d 1 7Tfd YRT & Ufaeea 10 .1 /EeT 1 TS 1 4RT % 3rgpd Tb 300 {6, Y Y 15 5 & T R Al &, o YRT bt 711 m 32
Options :

1. ¢ 5 fob Ht dier

2. % 15 fob Ht /dier

3. % 20 b #l /der

4. % 10 fb =t der

Question Number : 106 Question Id : 92775914512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?

I. A boat can travel 28 km downstream in 4 hours. It can travel 20 km upstream in 5 hours. The ratio of speed of boat in still water and speed of
stream is 7 : 4.

II. Speed of a man is 20 km/hr. He can cover 150 metres in 27 seconds.



III. A and B are 200 km apart. They start moving towards each other at same time with same speeds. When they meet, A and B had covered the
same distances.

Options :

1. # Tand II

2. % Il and III
3. % Only II

4. % Only III

Question Number : 106 Question Id : 92775914512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 & w1 98l /2

1. U 19 YRT & 3o d 28 fob. i, 4 6 T 99 HR Tahcl! 81 T8 URT & Ufadd 20 {11, 5 9 H 0 o Tohall ¢ | FRR o1 # A1d &1 1fa

&RT 1 1 BT 3IATT 7 : 4 B

1. T fad &1 T1id 20 fs 1 /AT ] 1 98 150 Hiey, 27 9608 H 0 SR DT ¢ |

%Aa%%zooﬁirﬁ.ﬁgﬂw%wwg&%ﬁwwﬁaquam—mﬁrﬁw—uagea $Hd €| 519 98 FAed §, Y A TUT B A 9HH
SeEakd

Options :

1. % 134T

2. 1 AUTIII
3. % Had 11
4. % Had 11

Question Number : 107 Question Id : 92775914513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A alone can do a work in 15 days and B alone can do the same work in 25 days. What is the ratio of the efficiency of A and B respectively?
Options :

1.¥5:3
2.% 4:3
3.%6:1
4, % 7:2



Question Number : 107 Question Id : 92775914513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A B TS B DI 15 7 T HR TohdT 8 3R B 3hal 34T B Bi 25 &1 H B Tdhdl 8 | U A 3R B BT &HdT BT SIATd 1 82

Options :
1.¥5:3
2.%4:3
1
2

3. % 6
4. % 7.

Question Number : 108 Question Id : 92775914514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A alone can complete a work in 25 days. A started the work alone and worked for first 5 days. B completed the remaining work in 16 days. In
how many days B alone can complete the whole work?

Options :

1. ¥ 20 days
2. % 25 days
3. % 16 days
4. % 15 days

Question Number : 108 Question Id : 92775914514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A DB TH B DI 25 AT A R B ADGAT G| A 7 3(hal B & (bl 3R UG 5 a1 I &1 fovan| B 7 9 B 16 fo=i & g1 fawa|
B 3ol THUl 1 &1 fda fo1 H Ox1 - Fabdll 62

Options :

1.¢20feq

2. % 25faq

3. % 16feT

4. % 15feq




Question Number : 109 Question Id : 92775914515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. If A and B can do a work in 12 days and 15 days respectively, then they will together do the same work in 7 days.
I1. If two pipes P and Q can fill a tank in 30 hours and 45 hours respectively, then they will together fill the same tank in 18 hours.

Options :

1. % OnlyI

2. % Only II

3. %* BothIand II
4. % Neither I nor II

Question Number : 109 Question Id : 92775914515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea § § o T sy I8 82

1. If¢ A 3R B HAT: 12 e 8iR 15 e At FRE R Thd €, A A R ST pd &1 7 fega A e S|

11 TS Y UTST P 3R Q HHTT: 30 U< 3R 45 U H U b HR Fhd &, dl 3 FiIae I8 ¢ &1 18 B H WR &A1
Options :

1. % Had 1

2. ¥ Had Il

3. % [ QYT gHl

4. % GBI

Question Number : 110 Question Id : 92775914516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16 taps are fitted to a water tank. Some are inlet taps and the remaining are outlet taps. Each inlet tap can fill the tank in 14 hours and each outlet
tap can empty the tank in 42 hours. If all the taps are opened together, then the tank will get filled in 1.5 hours. How many inlet taps are there?

Options :
1. %5
2.% 11



3.% 6
4. % 10

Question Number : 110 Question Id : 92775914516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UM & ¢ I 16 70 IS gU R | $© TAfIHT 7d § 9UT AV AR 9d 3| Ude TafieT 7d ¢ & 14 8 H 4R Tohdl § 9UT UAH
P 9 ¢ B 42 °e H Well B Tobdl 71 Al TH 7 o1 U Ty Wid fear Sirar @, df &b 1.5 9 H WR SITwT | UafRresT =d fabdq 82
Options :

%5

2.9 11

3. % 6

4. % 10

Question Number : 111 Question Id : 92775914517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Outer radius of a circular path is 35 cm. Inner radius of the same path is 7 cm. What is the area of this circular path?
Options :

1. % 2430 cm?

2. ® 2562 cm?

3. % 1590 cm?

4. ¥ 3696 cm?

Question Number : 111 Question Id : 92775914517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JUIHR Y &1 a1t o1 35 T, g1 S 0 B fidiRes Broar 7 9.1, 81 59 JUIBR Y &I &% 31 52

Options :

1. ® 2430 9.} 2
2. % 2562 A2



3. % 1500 JH 2
4. 3696 9.4 2

Question Number : 112 Question Id : 92775914518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of total surface area of two cubes C1 and C2 is V2 * /3.
What is the ratio of the volumes of the two cubes?

Options :

34, 43
27 13
1. ¢ .

31 . A3
L x 2713
3.%2:3
4.% 4:9

Question Number : 112 Question Id : 92775914518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar WAl C1 dd C2 & Fo TOT STFeT &l
I 2 : V3 81 Il Tl & AT T A
T &

Options :

v 23f4 :33f4



WL, 4302
L x 213

3.%2:3
4. % 4:9

Question Number : 113 Question Id : 92775914519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the ratio of volume of two spheres S1 and S2 is V2 : 43 respectively, then
what is the ratio of the total surface area of two spheres S1 and S2 respectively?

Options :

1/3 . 4li3
v 355

119 . g/
4779

2. %

113 . ql/3
4779

3. %

15 . U5
L 405

Question Number : 113 Question Id : 92775914519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ofg g adr S1 JuT S2 & HAGA F HAd FAT: V2: 3 g ar
aIAT el FHA: S1 AT S2 F Fol TSIT &IFTFel T AHdd FAT 27




Options :

1/3 . 4li3
v 355

- 41;’9 :glfg

113 . ql/3
4779

3. %

15 . U5
L 405

Question Number : 114 Question Id : 92775914520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Length, breadth and height of a cuboid are 40 cm, 20 cm and 10 cm respectively. Total surface area will be 1400 cm?.

II. If radius of a circle is 21 cm and circumference of this circle is equal to the perimeter of a square, then the area of square is 1089 cm?.
Options :

1. * Only I

2.9 Only II

3. % BothIand II

4. % Neither I nor II

Question Number : 114 Question Id : 92775914520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & @ ®F 91 &Y 981 /2

1. U I1Y &1 TS, AISTs Ul &aTs AR 40 4., 20 9.4, TuT 10 T 81 Td USHT &% 1400 9.1 .2 4TI
I1. 91 U g1 & B 21 Q.. 8 a1 39 g1 o1 aRRfY uep avf o ufkumy o sR1eR ©, ot avf &1 & d 1089 .2 B




Options :

1. % FHadl
2. ¥ Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 115 Question Id : 92775914521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of laptops sold by 6 shops. Number of laptops are shown as a percentage of total number of laptops
sold by these 6 shops.

F A
8% | 169
E
E
=
D 19%
17

If number of laptops sold by A are 464, then what are the total number of laptops sold by these 6 shops?
Options :
1. % 3800
2. % 2650
3. % 3190
4. % 2900

Question Number : 115 Question Id : 92775914521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 3800
2. % 2650
3. % 3190
4. % 2900

Question Number : 116 Question Id : 92775914522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of flats in 7 building. Number of flats are shown as a percentage of total number of flats in these 7
buildings?

If total number of flats in B4 and Blare 798, then what are the total number of flats in BS, B6 and B2?
Options :



1. #® 1964
2. % 1902
3. %1938
4. % 1916

Question Number : 116 Question Id : 92775914522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
:ﬂ%rgquﬁaﬁﬁﬂn—cﬁﬁu%ﬁaﬁmm%l Taiel Pt TR 1 3 7 SHRA! A Telel &l e T & Ufa=rd & &0 H guiian
gl
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Options :
1. % 1964
2. % 1902
3. ¥ 1938
4. % 1916

Question Number : 117 Question Id : 92775914523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of coolers and number of fans in 7 shops.



Shops | Coolers Fans
I 146 76
K 128 94
L 133 81
M 91 92
N 87 67
P 48 71
R 158 93

C — Average number of coolers per shop
D — Average number of fans per shop
What is the value of C/D?

Options :
1. % 1.49
2.¥ 138
3. % 1.26
4. % 132

Question Number : 117 Question Id : 92775914523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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146 76
128 94
133 81
91 92
87 67
48 71
158 93
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Options :

1. % 1.49

2. 138

3. % 1.26
4. % 1.32
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’ﬂ
g

Question Number : 118 Question Id : 92775914524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of hospitals in 7 states. Number of hospitals are shown as a percentage of total number of hospitals
in these 7 states.



Which of the following statement is correct?

I. Ratio of number of hospitals in S4 to the number of hospitals in S7 is 21 : 23

I1. If average number of hospitals per state are 1400, then the number of hospitals in S3 are 784
III. Difference between the central angle formed by S4 and S5 is 25.2 degrees

Options :

1. # Both I and II
2. # Only III

3. % [, I and ITI

4. % Both IT and III

Question Number : 118 Question Id : 92775914524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [qUT IS

2. % Had |

3. % [ AU

4. 11 QYT 1L ST

Question Number : 119 Question Id : 92775914525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the number of shopkeepers in 5 cities.
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What are the total number of shopkeepers in these 5 cities?
Options :
1. % 260
2. % 220
3.9 240
4. % 250

Question Number : 119 Question Id : 92775914525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 260
2. % 220
3. ¥ 240
4. % 250

Question Number : 120 Question Id : 92775914526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the number of males and females in 5 companies.

—=—Females  —e—Males
250 A
200
150 -
100

50 4

Which of the following statement is incorrect?

Options :

1. # Average number of males per company are 122

2. ® Total number of females in A, B and E are 240

3. % Number of females in C are 83.33 percent more than the number of females in D

4. % Average number of females per company are 112

Question Number : 120 Question Id : 92775914526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 121 Question Id : 92775914527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The chemical synthesis of (1)/BeetBlue is fastly (2)/and very simple (3)/.No error (4)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 121 Question Id : 92775914527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The chemical synthesis of (1)/BeetBlue is fastly (2)/and very simple (3)/.No error (4)

Options :
1. %1
2.¥2



3. %3
4. % 4

Question Number : 122 Question Id : 92775914528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Each of these (1)/sweet shops are (2)/famous in the town (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 122 Question Id : 92775914528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Each of these (1)/sweet shops are (2)/famous in the town (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 123 Question Id : 92775914529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Human behaviour in the presence (1)/of disease also bears (2)/the signature of evolution (3)/.No error (4)

Options :
1. %1
2. %2



3.% 3
4.9 4

Question Number : 123 Question Id : 92775914529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Human behaviour in the presence (1)/of disease also bears (2)/the signature of evolution (3)/.No error (4)

Options :
1. %1
2.% 2
3.%3
4. ¥ 4

Question Number : 124 Question Id : 92775914530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
When people think that (1)/ what they do works, (2)/they are more like to do it (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 124 Question Id : 92775914530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
When people think that (1)/ what they do works, (2)/they are more like to do it (3)/.No error (4)

Options :
1. %1



2. %2
3.¢3
4. % 4

Question Number : 125 Question Id : 92775914531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Social insects are some of (1)/the most extreme practitioner (2)/of social distancing in nature (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 125 Question Id : 92775914531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Social insects are some of (1)/the most extreme practitioner (2)/of social distancing in nature (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 126 Question Id : 92775914532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
He is (superior rather than) me in the office.

Options :

1. ¥ superior to



2. # superior than
3. % super than

4. ¥ No improvement

Question Number : 126 Question Id : 92775914532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
He is (superior rather than) me in the office.

Options :

1. % superior to
2. # superior than
3. % super than

4. ¥ No improvement

Question Number : 127 Question Id : 92775914533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
This component is the major protein (found in) breast milk.

Options :

1. # founded at
2. % found into
3. # founded in

4. ¥ No improvement

Question Number : 127 Question Id : 92775914533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
This component is the major protein (found in) breast milk.

Options :



1. #* founded at
2. * found into
3. # founded in

4. ¥ No improvement

Question Number : 128 Question Id : 92775914534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The National Pension scheme (has been in effect) for over a decade now.

Options :

1. # had been in effect
2. ¥ No improvement
3. % has been in affect

4. # has being effective

Question Number : 128 Question Id : 92775914534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The National Pension scheme (has been in effect) for over a decade now.

Options :

1. # had been in effect
2. ¥ No improvement
3. % has been in affect

4. # has being effective

Question Number : 129 Question Id : 92775914535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Even the watchmen doing their nightly duties (didn't came along) something unusual.

Options :



1. # didn’t came across
2. # didn’t come along
3. % didn’t come across

4. ¥ No improvement

Question Number : 129 Question Id : 92775914535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Even the watchmen doing their nightly duties (didn't came along) something unusual.

Options :

1. % didn’t came across
2. # didn’t come along
3. % didn’t come across

4. ¥ No improvement

Question Number : 130 Question Id : 92775914536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Although Seema was hungry she (went out for dancing).

Options :

1. #¥ goes out for dancing
2. ¥ went out to dance

3. # went on for dance

4. ¥ No improvement

Question Number : 130 Question Id : 92775914536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Although Seema was hungry she (went out for dancing).



Options :

1. # goes out for dancing
2. ¥ went out to dance

3. % went on for dance

4. ¥ No improvement

Question Number : 131 Question Id : 92775914537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Every single person on the planet a story.

Options :
1. ¥ has
2. # have
3. % had
4. % do

Question Number : 131 Question Id : 92775914537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Every single person on the planet a story.

Options :
1. ¥ has
2. # have
3. % had
4. % do

Question Number : 132 Question Id : 92775914538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He turned the burners after cooking his meal.



Options :
1. # of
2. % on
3. % off

4. % down

Question Number : 132 Question Id : 92775914538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He turned the burners after cooking his meal.

Options :
1. # of
2. % on
3. % off

4. % down

Question Number : 133 Question Id : 92775914539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The peasant down his burden and tried to push the stone out of the way.

Options :
1. * lied
2. # Jain
3. * lay
4. ¥ laid

Question Number : 133 Question Id : 92775914539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



The peasant down his burden and tried to push the stone out of the way.
Options :

1. % lied

2. # lain

3. ® lay

4. ¥ laid

Question Number : 134 Question Id : 92775914540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The boy didn’t his temper at the workers.

Options :
1. ¥ lose
2. % Jost
3. # loose
4. % loosed

Question Number : 134 Question Id : 92775914540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The boy didn’t his temper at the workers.

Options :
1. ¥ lose
2. % Jost
3. # loose
4. % loosed

Question Number : 135 Question Id : 92775914541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Banded mongooses, do not avoid group members even when they are sick.

Options :

1. ¥ visibly

2. % inherently
3. % obscurely
4. # hardly

Question Number : 135 Question Id : 92775914541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Banded mongooses, do not avoid group members even when they are sick.

Options :

1. ¥ visibly

2. % inherently
3. % obscurely
4. # hardly

Question Number : 136 Question Id : 92775914542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
We must

P. laugh more as

Q. laughing is a

R. therapy and a secret

S. to long life

Options :

1. # RQPS
2. ¥ PQRS
3. ¥ PQSR
4. ¥ QSRP



Question Number : 136 Question Id : 92775914542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
We must

P. laugh more as

Q. laughing is a

R. therapy and a secret

S. to long life

Options :

1. # RQPS
2. ¥ PQRS
3. # PQSR
4. % QSRP

Question Number : 137 Question Id : 92775914543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
With the help

P. and inspiration of

Q. into the politics of India

R. Gopal Krishna Gokhale,

S. she found her way

Options :

1. * PQSR
2. % QSRP
3. ¥ PRSQ
4. % RQPS

Question Number : 137 Question Id : 92775914543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.
With the help

P. and inspiration of

Q. into the politics of India

R. Gopal Krishna Gokhale,

S. she found her way

Options :

1. # PQSR
2. % QSRP
3. ¥ PRSQ
4. % RQPS

Question Number : 138 Question Id : 92775914544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.
The government should

P. specific health problems

Q. include integrated health

R. programs into their public

S. policies and control

Options :

1. # PQSR

2. % QSRP

3. ¥ PRSQ

4. ¥ QRSP

Question Number : 138 Question Id : 92775914544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The government should

P. specific health problems

Q. include integrated health



R. programs into their public
S. policies and control

Options :

1. # PQSR
2. % QSRP
3. ¥ PRSQ
4. ¥ QRSP

Question Number : 139 Question Id : 92775914545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. The bloodsucking tsetse fly of Africa is less than an inch long.

Q. Sleeping sickness can be fatal if left untreated.

R. It uses its bladelike mandibles to pierce skin and feed on the blood of humans and other animals.
S. Two species of tsetse fly are known to transmit the parasites that cause sleeping sickness.
Options :

1. ¥ PRSQ

2. % QSRP

3. % RQPS

4. % QRSP

Question Number : 139 Question Id : 92775914545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. The bloodsucking tsetse fly of Africa is less than an inch long.

Q. Sleeping sickness can be fatal if left untreated.

R. It uses its bladelike mandibles to pierce skin and feed on the blood of humans and other animals.

S. Two species of tsetse fly are known to transmit the parasites that cause sleeping sickness.

Options :
1. ¥ PRSQ



2. % QSRP
3. # RQPS
4. % QRSP

Question Number : 140 Question Id : 92775914546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Zeal

Options :

1. # Placate
2. # Please
3. ¥ Zest
4. # Roost

Question Number : 140 Question Id : 92775914546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Zeal

Options :
1. # Placate
2. # Please
3. ¥ Zest
4. # Roost
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Group Minimum Duration : 0
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Question Number : 141 Question Id : 92775914547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Yearn

Options :

1. * Grow
2. % QGaily
3. % Desire
4. % Delay

Question Number : 141 Question Id : 92775914547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word:
Yearn

Options :

1. % Grow
2. % Gaily
3. % Desire
4. ¥ Delay

Question Number : 142 Question Id : 92775914548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Censure

Options :

1. # Pacify
2. % Arrange
3. % Appeal
4. ¥ Approve

Question Number : 142 Question Id : 92775914548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Censure

Options :

1. # Pacify
2. % Arrange
3. % Appeal
4. ¥ Approve

Question Number : 143 Question Id : 92775914549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Decadent

Options :

1. ¥ Moral

2. # Mortal
3. % Immortal

4. % Immoral

Question Number : 143 Question Id : 92775914549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word:
Decadent

Options :

1. ¥ Moral

2. # Mortal
3. % Immortal

4. % Immoral

Question Number : 144 Question Id : 92775914550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Lacrosse

2. # Lacrose

3. % Lacrrosse

4. % Lacrrose

Question Number : 144 Question Id : 92775914550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Lacrosse

2. # Lacrose

3. % Lacrrosse

4. % Lacrrose

Question Number : 145 Question Id : 92775914551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Callamitous

2. % Calammitous

3. % Calamitous

4. % Calamituos

Question Number : 145 Question Id : 92775914551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Callamitous

2. # Calammitous

3. % Calamitous

4. % Calamituos

Question Number : 146 Question Id : 92775914552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. % Apprenntice
2. % Apprrentice
3. % Aprentice
4. ¥ Apprentice

Question Number : 146 Question Id : 92775914552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Apprenntice

2. % Apprrentice

3. % Aprentice

4. ¥ Apprentice

Question Number : 147 Question Id : 92775914553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Playwright

2. % Playright

3. # Playwrright

4. % Plaiwright

Question Number : 147 Question Id : 92775914553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Playwright



2. # Playright
3. % Playwrright
4. % Plaiwright

Question Number : 148 Question Id : 92775914554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A fish out of water

Options :

1. # In a dry environment

2. ¥ To be in an uncomfortable situation
3. % Know something secret

4. # To harass someone

Question Number : 148 Question Id : 92775914554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A fish out of water

Options :

1. # In a dry environment

2. ¥ To be in an uncomfortable situation
3. % Know something secret

4. # To harass someone

Question Number : 149 Question Id : 92775914555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Beat around the bush

Options :

1. # Discuss something in secret



2. % Cleaning the garden
3. ¥ Avoid coming to the point
4. % No plan of the main topic

Question Number : 149 Question Id : 92775914555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Beat around the bush

Options :

1. % Discuss something in secret
2. % Cleaning the garden

3. ¥ Avoid coming to the point
4. % No plan of the main topic

Question Number : 150 Question Id : 92775914556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Meet one’s waterloo

Options :

1. % Waste time here and there

2. % Going for expedition

3. % to be defeated by someone who is too strong for you

4. % Begin from scratch

Question Number : 150 Question Id : 92775914556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Meet one’s waterloo

Options :



1. % Waste time here and there
2. # Going for expedition
3. ¥ to be defeated by someone who is too strong for you

4. ¥ Begin from scratch

Question Number : 151 Question Id : 92775914557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Hit the hay

Options :

1. # Going to kill someone
2. % Go to bath

3. % Make money

4. ¥ Go to bed

Question Number : 151 Question Id : 92775914557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Hit the hay

Options :

1. # Going to kill someone
2. % Go to bath

3. % Make money

4. ¥ Go to bed

Question Number : 152 Question Id : 92775914558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Government by officials in a state

Options :



1. ¥ Bureaucracy
2. ®# Meritocracy
3. # Democracy
4. % Oligarchy

Question Number : 152 Question Id : 92775914558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Government by officials in a state

Options :

1. ¥ Bureaucracy
2. # Meritocracy
3. # Democracy
4. % Oligarchy

Question Number : 153 Question Id : 92775914559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
The science of predicting events by stars

Options :

1. ¥ Magic

2. % Astrology

3. ¥ Gastronomists
4. % Polyglot

Question Number : 153 Question Id : 92775914559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
The science of predicting events by stars



Options :

1. % Magic

2. ¥ Astrology

3. % Gastronomists
4. # Polyglot

Question Number : 154 Question Id : 92775914560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
The study of the functions of the body

Options :

1. # Physician
2. # Botany

3. % Psychology
4. ¥ Physiology

Question Number : 154 Question Id : 92775914560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
The study of the functions of the body

Options :

1. # Physician
2. # Botany

3. % Psychology
4. ¥ Physiology

Question Number : 155 Question Id : 92775914561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Being unable to pay one’s debt



Options :

1. ¥ Insolvent
2. % Undue
3. % Usher

4. % Usurer

Question Number : 155 Question Id : 92775914561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.

Being unable to pay one’s debt

Options :

1. ¥ Insolvent

2. % Undue

3. % Usher

4. % Usurer

Sub-Section Number : 2
Sub-Section Id : 927759690
Question Shuffling Allowed : Yes

Question Id : 92775914562 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Bhikaiji Cama, also known as Madame Cama, was an Indian political activist and advocate for women’s rights who had the unique distinction of
unfurling the first version of the Indian national flag—a tricolour of green, saffron, and red stripes—at the International Socialist Congress held
at Stuttgart, Germany, in 1907.

Born to an extremely wealthy Parsi business family, Bhikaiji Patel received her early education in Bombay. Influenced by an environment in
which the Indian nationalist movement was taking root, she was drawn toward political issues at an early age. In 1885 she married Rustomji
Cama, a well-known lawyer, but her involvement with sociopolitical issues led to differences between the couple. Because of marital problems
and her poor health, which required medical attention, Cama left India for London.

During her stay there, she met Dadabhai Naoroji, a strong critic of British economic policy in India, and began working for the Indian National
Congress. Cama also came in contact with other Indian nationalists, including Vir Savarkar, Lala Har Dayal, and Shyamji Krishnavarma, and
addressed several meetings in London’s Hyde Park.



After the 1907 conference in Stuttgart, Cama traveled abroad on an extended lecture tour to mobilize public opinion against British rule in India,
especially among expatriate Indians; she also spoke in favour of women'’s rights. When rumours began that she would be deported from England,
she moved in 1909 to Paris, where her home became a headquarters for those agitating for Indian independence. She helped Har Dayal launch his
revolutionary paper Bande Mataram, copies of which were smuggled into India from London. For three years during World War I, after Great
Britain and France became allies, the French authorities interned her for her anti-British activities. She maintained active contacts with Indian,
Irish, and Egyptian revolutionaries and liaised with French Socialists and Russian leadership. In 1935, at the age of 75, she was allowed to return
to India, where she died the following year.

Sub questions

Question Number : 156 Question Id : 92775914563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The aptest title for the passage is-

Options :

1. # Bhikaiji Cama- the Feminist of Indian Independence Movement
2. # Indian National Congress and Bhikaiji Cama

3. ¥ A short life sketch of Bhikaiji Cama

4. # Early life of Bhikaiji Cama

Question Number : 157 Question Id : 92775914564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, why did Bhikaiji Cama leave India?

Options :

1. # She defected to England after she was threatened by political adversaries.

2. # She felt she could serve the cause of freedom struggle better by going to England.
3. ¢ She left for England due to marital problems and health issues.

4. # She was deported to England for her overt political activities.

Question Number : 158 Question Id : 92775914565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the author mean by the statement “the French authorities interned her for her anti-British activities.”?
Options :



1. ¥ Cama was interning for French authorities by spying on other revolutionaries around the world.
2. # Cama was constantly surveyed as she instigated violence in France.
3. % Cama was made to spy on the British in return for the asylum provided by the French.

4. ¥ Cama was jailed by the French for her anti-British stance.

Question Number : 159 Question Id : 92775914566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ Bhikaiji Cama, also known as Madame Cama.

2. #® Cama helped Bose launch his revolutionary paper Bande Mataram.

3. % In 1947, at the age of 75, Bhikaiji Cama was allowed to return to India.

4. # The International Socialist Congress was held at Stuttgart, Germany, in 1967.

Question Number : 160 Question Id : 92775914567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “expatriate” is?
Options :

1. # Scourge

2. ¥ Banish

3. ¥ Autonomous

4. # Settled

Question Id : 92775914562 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Bhikaiji Cama, also known as Madame Cama, was an Indian political activist and advocate for women’s rights who had the unique distinction of
unfurling the first version of the Indian national flag—a tricolour of green, saffron, and red stripes—at the International Socialist Congress held
at Stuttgart, Germany, in 1907.

Born to an extremely wealthy Parsi business family, Bhikaiji Patel received her early education in Bombay. Influenced by an environment in



which the Indian nationalist movement was taking root, she was drawn toward political issues at an early age. In 1885 she married Rustomji
Cama, a well-known lawyer, but her involvement with sociopolitical issues led to differences between the couple. Because of marital problems
and her poor health, which required medical attention, Cama left India for London.

During her stay there, she met Dadabhai Naoroji, a strong critic of British economic policy in India, and began working for the Indian National
Congress. Cama also came in contact with other Indian nationalists, including Vir Savarkar, Lala Har Dayal, and Shyamji Krishnavarma, and
addressed several meetings in London’s Hyde Park.

After the 1907 conference in Stuttgart, Cama traveled abroad on an extended lecture tour to mobilize public opinion against British rule in India,
especially among expatriate Indians; she also spoke in favour of women’s rights. When rumours began that she would be deported from England,
she moved in 1909 to Paris, where her home became a headquarters for those agitating for Indian independence. She helped Har Dayal launch his
revolutionary paper Bande Mataram, copies of which were smuggled into India from London. For three years during World War I, after Great
Britain and France became allies, the French authorities interned her for her anti-British activities. She maintained active contacts with Indian,
Irish, and Egyptian revolutionaries and liaised with French Socialists and Russian leadership. In 1935, at the age of 75, she was allowed to return
to India, where she died the following year.

Sub questions

Question Number : 156 Question Id : 92775914563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The aptest title for the passage is-

Options :

1. ¥ Bhikaiji Cama- the Feminist of Indian Independence Movement
2. # Indian National Congress and Bhikaiji Cama

3. ¥ A short life sketch of Bhikaiji Cama

4. % Early life of Bhikaiji Cama

Question Number : 157 Question Id : 92775914564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, why did Bhikaiji Cama leave India?

Options :

1. % She defected to England after she was threatened by political adversaries.

2. % She felt she could serve the cause of freedom struggle better by going to England.
3. % She left for England due to marital problems and health issues.

4. # She was deported to England for her overt political activities.



Question Number : 158 Question Id : 92775914565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the author mean by the statement “the French authorities interned her for her anti-British activities.”?
Options :

1. # Cama was interning for French authorities by spying on other revolutionaries around the world.

2. # Cama was constantly surveyed as she instigated violence in France.

3. % Cama was made to spy on the British in return for the asylum provided by the French.

4. ¥ Cama was jailed by the French for her anti-British stance.

Question Number : 159 Question Id : 92775914566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ Bhikaiji Cama, also known as Madame Cama.

2. # Cama helped Bose launch his revolutionary paper Bande Mataram.

3. % In 1947, at the age of 75, Bhikaiji Cama was allowed to return to India.

4. % The International Socialist Congress was held at Stuttgart, Germany, in 1967.

Question Number : 160 Question Id : 92775914567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “expatriate” is?
Options :

1. # Scourge

2. ¥ Banish

3. % Autonomous

4. # Settled
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Question Number : 161 Question Id : 92775914568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & oI 91 Xeg e d sk ol o7
Options :

1. % R

2. % BlY

3. % Gitg



4. ¢ Y

Question Number : 161 Question Id : 92775914568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafifad 7 ¥ S I Yt dwad Ueg 181 82
Options :

1. % Rl

2. % Bl

3. % Gt

4. Y

Question Number : 162 Question Id : 92775914569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafRad o ¥ SF 91 IS0l aF Udd &1 -Tgl 62
Options :

1. ® MSIdH

2. % YA

3. % YAdq

4, % ddd-

Question Number : 162 Question Id : 92775914569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad & ¥ o9 1 S| ar T U &1 g1 82
Options :

1. % SIdH

2. % YIdHq

3. % YAdd

4, % Jcdi-




Question Number : 163 Question Id : 92775914570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam T Treg fhT WY &1 IS8R0 8, JTd HIfTT|
CANIIEE]

Options :

1. % 3fogdl HIg
2. % dU=Y

3. ¥ HHYRY

4. % g1

Question Number : 163 Question Id : 92775914570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faam 7o T fore TU &1 ISTERUI &, JTd BT
CARIIEE]

Options :

1. % 3ot HIa
2. % dU=Y

3. ¥ HHYRY

4. % g1

Question Number : 164 Question Id : 92775914571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # § & I Higaras 31 61 82
Options :

1. % SR

2. % YYdr

3. % Uifgd




4. ¥ SUMER

Question Number : 164 Question Id : 92775914571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # I & W Higaras 931 61 82
Options :

1. % SR

2. % YYdr

3. % Uifgd

4. ¥ SHMGER

Question Number : 165 Question Id : 92775914572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U g § B D9 A1 Ja1H ©, J1d BIT|
¥ 981 Ugd S|

Options :

1. % e

2. % fIgars

3. % YYdddh

4. ¥ QEYATH

Question Number : 165 Question Id : 92775914572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu T o & T B A1 YA §, 1 DIt
o 951 ugd S|

Options :

1. * Fygarae

2. ® YYD



3. % Yy
4. ¥ QYIS

Question Number : 166 Question Id : 92775914573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U R § &%’ S 4 fIRAT01 HT IaEx0I &, J1d DI |
AT St A G 65 J&dd A ol

Options :

1. ¢ -GS
2. % IS
3. % URATUGETES
4. % TUGIISH

Question Number : 166 Question Id : 92775914573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UM I & ‘ws° S U fARIV0T BT IGER0I &, F1d Do
AT St A G B35 Jedd A gl

Options :

1. ¢ IHAAIH
2. % Jra-THD
3. % URAUERS
4. % TUGREISD

Question Number : 167 Question Id : 92775914574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o 91 e fghHe fhar o178l 82

Options :

1. % 981 g &I g&ib 4l |




2. % 351 - 9@dd &I ud ferar|
3. % IATH URS 9 for a9
4. AT G G g

Question Number : 167 Question Id : 92775914574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied o 9§ & 91 3arerul fgwmde a1 &1 18! 82
Options :

1. % 98T Hig- &I G ¢l

2. % 3fofg 4 gaidd &I uA feran|

3. % 37 URYd 9 ford S|

4.« AT @A T 8

Question Number : 168 Question Id : 92775914575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e Trsg o1 TfY fawdg Pifom)
i

Options :

1. % T4 + 3Tpfd
2. % 74 + P
3. % TR+ 3TPfd
4. T8 + S1Pf

Question Number : 168 Question Id : 92775914575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 71U e 1 IfY fode i
Taifd

Options :



1. % Td + 3Mpid
2. % T4 + TP
3. % TR+ P
4. T + SPHHA

Question Number : 169 Question Id : 92775914576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faea s F1d PITI
o

Options :

1. ¢ fa=m=r
2. % fqafor
3. % TR
4. % fdbrg

Question Number : 169 Question Id : 92775914576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T T8 1 faeH s F1d FIoTI
o

Options :
1.« fa=m=r
2. % fAHo
3. % TR
4. % f[dbrg

Question Number : 170 Question Id : 92775914577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TTT Teg 1 ygTgaT= Hd SifeT|



IREIG]
Options :
1. ¥ 3d
2. ® PoIld
3. % gy
4. % HUS

Question Number : 170 Question Id : 92775914577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Wsg 1 yafgarE 1d S|
ST

Options :
1. ¥ 3=
2. % polld
3. % gy
4. % HUS

Question Number : 171 Question Id : 92775914578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U Treaiy & fore Ifeid e &1 T Sifvig|
TR B P G Y HRA arall

Options :

1. % Edasl
2. % 37gaNl
3. % foerwl

4. SEGA

Question Number : 171 Question Id : 92775914578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o U Ireaiw & fore Ifeid e &1 T g |
X HTH Bl &R Y HRA ardl

Options :

1. % geeyf
2. % 3gayf
3. % oot

4. ¢ SR

Question Number : 172 Question Id : 92775914579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & ¥ < ad- &1 99+ Bifr|
Options :

1. ® gifRfeRe

2. % iy

3. ¢ Tifery

4. % Gfery

Question Number : 172 Question Id : 92775914579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 g ad- &1 994 Sifod |
Options :

1. % gifRIfeRe

2. % iRy

3. ¢ TfRIfery

4. % Hfery

Question Number : 173 Question Id : 92775914580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fraffed & @ & 91 Wss 1 Tad® T8 82
Options :

1. #® 9dl-Jdwd

2. % YA-gIad

3. % AT

4. AR

Question Number : 173 Question Id : 92775914580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 SF 91 Weg T THFRG 81 57
Options :

1. % dl-dWd

2. % ¢-gred

3. % AT

4.« 1A

Question Number : 174 Question Id : 92775914581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 g S
e AT B gl

Options :
1. % 3
2. ¢ U
3. % IiYq

4. % gEAl

Question Number : 174 Question Id : 92775914581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 gff S
qied TSI HT gl

Options :
1. % 3
2. ¢ TUT
3. % gYq

4. % U

Question Number : 175 Question Id : 92775914582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T e T &1 &Y 31 1 BT
HIURT : HUIY

Options :

1. % g@ﬂﬂ?ﬂw
2. % BIAH : gId
3. ¢ HeHdl : §3HM

4.*@3:3?»3?1’[

Question Number : 175 Question Id : 92775914582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ferq 71T w1eg g b1 e o1 1 P
DU - HU

Options :

1. % §IHM : Yo

2. % A : Jid

3. ¢ HeHdT : g9

4. % ﬁ'maq?ﬁﬂ'[




Question Number : 176 Question Id : 92775914583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu are 7 Rad wH o1 g wifsm
98 ORI I &g DHIgdl Tal At

Options :

1. % & HiR
2. ¢ & HRUI
3. % &b M
4. % & Ryar

Question Number : 176 Question Id : 92775914583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 gff S
98 IR Id a5 ERERIRGE KT

Options :

1. % & fid”
2. ¥ & HRUI
3. % & M
4. % & Ryar

Question Number : 177 Question Id : 92775914584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o 9 ford Tsg o1 TaRT gHRI §gadd & &0 H g1 82
Options :

1. # Xd

2. % Y

3. Al

4. % faq




Question Number : 177 Question Id : 92775914584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad o 9 forg Wse &1 YA gHRN 9§99 & ¥4 H gidl 82
Options :

1. = Xd

2. % 91y

3. AT

4. % e

Question Number : 178 Question Id : 92775914585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 7TQ aT H A I’ HIF W HRS ¢, J1d HIfoTg |
SIS = T D] JHT|

Options :

1. ¥ HH

2. % Fdl

3. % gdy

4. % gAY

Question Number : 178 Question Id : 92775914585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fCT U IR H THA B B AT HRB 8, J1d HIT|
3(HTUS = I B FHATAT

Options :

1. ¢ &H

2. % &l

3. % g9y




4. % JrEYya

Question Number : 179 Question Id : 92775914586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed & 3 gica-wife & o9 a1 favm JaeH 82
Options :

1. % AR-ARA

2. % Y-y

3. ¢ -

4. % HIb-YidDT

Question Number : 179 Question Id : 92775914586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraferf 3 Qe e & 1 w1 o weiror 2
Options :

1. % HR-ARA

2. % Y-yt

3. ¥ H-GH

4. % Yab-YfdpT

Question Number : 180 Question Id : 92775914587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 910 &1 BT F1d B
T YIS GRS IR TS g |

Options :




4. % Ffery

Question Number : 180 Question Id : 92775914587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T 9T &1 HTd F1d HIfST
TR MG &Rl IR TSl g |

Options :

3. % Y[
4. % giqry
General Hindi2
Group Number : 10
Group Id : 927759522
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 927759558
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16



Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759692
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775914588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&u T are 1 gfy J1d BT

a5 Hit ot s T 5|

Options :

1. % 9 ga®

2. ¢ UGS

3. % diYdl JdPh

4. % 3B

Question Number : 181 Question Id : 92775914588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faq 7T gt bt gfy 1 HIfTT

ag St it ST aHaT B

Options :

1. % A Jad

2. ¢ UGS

3. % diYdl JdPh

4. % MdH

Question Number : 182 Question Id : 92775914589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fT 71T a1’ 1 gt Jd BT
394 v feran B |

Options :

1. ® W&

Question Number : 182 Question Id : 92775914589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu TTu 97y 1 Y&l I1d BT
394 v feran B

Options :

1. * RUIHS
2.« quf

3. % 3o

4. %

Question Number : 183 Question Id : 92775914590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T U T ford T & IQTER01 7, 1A Hifor|
de, de

Options :

1. % HOH

2.% 3

3. % UYyH

4, % 3dH

Question Number : 183 Question Id : 92775914590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f&T U T ford T & IaTER01 7, 1A Hifor|
g, de

Options :

1. ® HYH

2.9 3

3. % gyq

4. % 31H

Question Number : 184 Question Id : 92775914591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRed O I S1[< ar’ &1 994 Fiforu|
Options :

1. % §RIGH QT A AN G|

2. % gE M g

3. % g8l R WIS Uepal g1 Tl

4. ¥ 3H UG 3! g foha1 B

Question Number : 184 Question Id : 92775914591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad # 9 313l aTe o1 T S|
Options :

1. % IRIGH G A AN G

2. % QA MA B

3. % g1 WRI His Tepal g1 T

4. ¢ TG QUG MY g foba1 B

Question Number : 185 Question Id : 92775914592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

QU 71T aTeRy o1 e T 1A oY |

I8 St § 98 R U TR

Options :

1. ¢ g8 Mt H 937 3R TR Il 71T |

2. % gE TSI IR 96 B U 1|

3. % ISP UMY et At 3T 98 TR =l 71|
4. % FE TSI & HRU GHIR Ial 71|

Question Number : 185 Question Id : 92775914592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 7T aTeRy o1 TYerd T T oY |

I8 S § 98 R TR T

Options :

1. ¢ 98 TSI H 937 3R TR Il 7T |

2. % g TSI IR 96 PR SHR 41|

3. % I g el I 39T 98 SUaR =l AT
4, % g TTS! o HRUI TUR Iall 47|

Question Number : 186 Question Id : 92775914593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we ), fou 0 oR fawedl & 9, 39 fawen &1 997 & 1 fou U geTak & i ol Ia9% U § oJad HRdl ¢ |
[[RIRGRIGH

Options :

1. % WY HIAT

2. ¥ B I

3. % §gd T AMl

4. % XY




Question Number : 186 Question Id : 92775914593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded &1 7o 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |
[HRIRGRIGH

Options :

1. % WY BT

2. ¢ HAD I

3. % §gd T AMl

4. % RHY I

Question Number : 187 Question Id : 92775914594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et R & faU T IR faswmedl & 3 faded &1 7o & off 3T U geTar & 31 & Jd9% U 9§ Fdd Bl ¢ |
ER H TP D] Hu‘;lsr I

Options :

1. % g g T

2. % Ges B A TS

3. % g A A T

4. ¢ A AT

Question Number : 187 Question Id : 92775914594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad R T 3T TN IR fawent § 39 fawed &1 99+ & 7 foU T8 GeTk & 31 &1 Y49 U J oJad Rl ¢ |
IR T 3R P! UgTs |

Options :

1. ® g H fa TTs

2. % Wk | TS




3. % qRY A A TS
4. A a8

Question Number : 188 Question Id : 92775914595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ It | fgforiRad | ¥ foog o g &1 SuanT foear S, I96T o Siid |
o PN & OR T IR 98 e fHal|

Options :

1%

5

2.9

3.% 7

4. % .

Question Number : 188 Question Id : 92775914595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou e gt # fFgfaRaa & T oy favm fag &1 Suant fasar S, ST o i |
B T & TR TN TR 98 Ae! e

Options :

%,

2.9
3.% 7

4. % _

Question Number : 189 Question Id : 92775914596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ gt | fgfoiRad | ¥ foog favm g &1 SuanT foear S, 3961 T Sifvig |
313 93T WAl TR SRR 7d B |

Options :
1. =

b



2.9
3. %

4. % .

Question Number : 189 Question Id : 92775914596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu TQ gt # fRuforiRed # ¥ foog favm forg &1 SuanT fosar S, 3961 T Sifoig |
313 93T WAl IR STl 7d B |

Options :

1. %
2.9
3. % .

4. % _

Question Number : 190 Question Id : 92775914597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U a1 o1 FRHfoiRad | O 9@l U &1 9894 ST
HTsa for uf=ra &1 a8 O

Options :

1. % a1 foq ufea &1 ug 09 e
2. % yrsa), fom uf=a o1 a5 Ow
3.« Y3, foqr =g &1 g8 U9 &
4. % Y13 ; fo=r ufverg 1 ug 09 |

Question Number : 190 Question Id : 92775914597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou e a9 &1 fFHfaRed § T 98 U &1 9 S|
H1a famr ufaa &1 98 09 an

Options :



1. % yrzar | foqr uR=g o198 09 B
2. % yrsa), fom ufer o1 ug Ow o
3. « 4T, fo= uR=ra &1 a8 o9 S
4. % y7sa) ; fom1 uferg &1 g8 UH S|

Question Number : 191 Question Id : 92775914598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et R # faU M0 IR fawed! & 3 fadhed &1 70 &2 off 3T TTE geTar & 31 & Jd9% U I Fdd Hdl ¢ |
T AN &9 51 ol B

Options :

1. % QY B US
2.V TUD Yd
3. % g H diq
4. % Y EIY

Question Number : 191 Question Id : 92775914598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et R & foU T IR faswmedl & 3 faded &1 70 % off 3T T geTar & 31 & Jd9% U 9§ Fad Hdl ¢ |
T ARA S g o &l

Options :

1. % TYPH U
2. ¥ YD Yol
3. % ST FH TG
4. % QYUY TETY

Question Number : 192 Question Id : 92775914599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad o 9 ge! fav forg gad are &1 994 Fiforu|




Options :

1. #® W,WW
2. % SitqH, T HgY
3. #Gﬂa:rzwﬁ‘atf
4. % Sfad ‘TP Huw

Question Number : 192 Question Id : 92775914599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefed o @ et favm fag god a1 &1 99+ s
Options :

1. % W,WW

2. % SiigH, U §uy

3. v’\_rﬁa:f:ww

4. % SI9 T HI

Question Number : 193 Question Id : 92775914600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fau 0 IR fawedl & 9, 39 fadmen &1 997 & 1 fou U geTak & 31 ol Ia9% U § oJad HRdl ¢ |
fohrlt T &R STl HR YT 1Y YTl

Options :

1. % ot &l gar 9 g1

2. ¢ 30 WY & forT gl &1 g1 Ug A

3. % (AR ATl BT

4. % gEI DI AR gl HAT

Question Number : 193 Question Id : 92775914600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & 9§, 39 fawen &1 997 & 51 fou U geTak & 31 ol Ya9% U § odad Rl g |




fp et T TR STAT R YT BT DI
Options :

1. % fobdl D gdr 9 ga

2.« 30 @1y & forg gERl &l 81 uga
3. % 3aER dTg! gl

4. % W BT SR GO DA

Question Number : 194 Question Id : 92775914601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, fiu 70 IR fawmedl § 9, 39 fawed o1 9o 3 o1t fT 7T JRTer & 31 &1 Jd9§ U ¥ oJad HRal o |
3P geTdl §Td HAT

Options :

Question Number : 194 Question Id : 92775914601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded &1 9o 3 ot f3T 70 geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
3P eIt a1 HRAT

Options :

1. % T Y gob S

2. ¢ U HRAT

3. % GeRT ST

4. % 3[CI-3CT BT

Question Number : 195 Question Id : 92775914602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed § 9, 39 faded o1 9o 3 ot fT 7T gerer & 3 &1 Jd9§ U ¥ oJad Hral g |
T SpT AR T

Options :

1. % UATY g U

2. % o] fad

3. ¢ URGUS! T SIS 81 &

4. % 99 o THR 0T G

Question Number : 195 Question Id : 92775914602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we , fau 0 aR fawedl & 9, 39 fadmen &1 997 & S foU U geTak & 31 ol Ia9% U § oJad HRal ¢ |
T SiehT G &

Options :

1. % JA0g g U

2. % g Afad

3. ¢ URAUS! ¥al GiaTS 8id &

4. % A9 & YR 0T g

Sub-Section Number : 2
Sub-Section Id : 927759693
Question Shuffling Allowed : Yes

Question Id : 92775914603 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS TSI T T | TR o TR WR Uid U faU 7 § | TR &1 eAFgd s U aul Udd U & dR fadmedl §f 9 el faswed g |
faey & o et el & 31T & HEd IR UHIRI ST T & | YR o 1A feg oW SR o 4 & Tt Ti 7 sifgan &1 fa=iy u=ie &1 18
g1 AFRTIANT & Ydcdh Tceirel 61 =1 TN o TS ST T TH ST I & Sia I ! U RIF faan g1 st gopR iar o off sifgan &
g UR SITE-SI1T8 U= STEl 14T § | HATATH HeTdR = 3o fRiemaff &1 GenyR ifewn &1 Jdrd gu fort $iR S & &t 91d Fgl 3|
Sffear AT Sife o1 3rHTa &1 g, Sifug fhelt oft Sfia &1 Yheugdes a4 et & SiR forei! Sfia a1 UToft 1 S{HRUT g et Uga o | Tt
SITARICH 3O &1 14 &1 T ST e & | BRI AT S1d-87d H el 3T ST 391 B Ughy &1 U YRS =0 g | iy 7S Bl




3T T T 8, I8 IUD] gfeg BT AR B I fId BT 3 I URA Rl 8, TRUTH: GIRT B g8 R YIST Ugd™ &1 SR §d1 5 |
gaft groft 7R fore famraa g, A7 fooedt T oft Sk 8t 8, U=t WIaAT 811 WR 318 SIfd 1Y THTW §1 SITE 31R SHR A | &HT BT HId U1 8N
&1 1 U IaId HTd gH HR IRAR J THSTR T RTINS U &I 9g1d1 ¢4 I 318 YIS RuTdr 81 89 S5 aul gu Ifd §laR
AT BT TN HRd §T T TH-TH U HGER Td &HT B UG DI S H Ifad RIF <d §U S1fed1 &1 T U1 Sifa= il g fe
IR SHaRIcH U SR SeRf a9 oy |

Sub questions

Question Number : 196 Question Id : 92775914604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS Siia- § 7 U™ 82
Options :

1. % 3ffgqr & A R I

2. ¥ Had 1 gt Ta! diewp foddl DI 1ft 3@ = Ug Al
3. % F&d T g I AT

4. % EITH Y 391G g YT G|

Question Number : 197 Question Id : 92775914605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SiTa el B SIHR0Ng grft

Options :

1. % 31 BT U B |

2. ¢ X1 9 g ¥ G X8 HR d WH-UH B! Jaiid Td R
3. % §3! BT GHM d Blc] DI TR HIP |

4. % ool Ueh YA &1 Yol diep |

Question Number : 198 Question Id : 92775914606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R S &) 9 T 3R B2

Options :



1. % e off 7l %) 9 IRl o) off TR X g

2. % g W TRl SR g &t @ 2

3. ¢ 3T WA St fo1g 3R ol &t oI & eifa 7 ug=
4. % Qg 1ff qars W3l 3R gIRI & it gars T foraT T |

Question Number : 199 Question Id : 92775914607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUgad TR &1 X J1d Pifog |
Options :

1. % 3ffgar o ur

2. ¢ 3 TRAH

3. % Sitg et

4. % Sfigd g

Question Number : 200 Question Id : 92775914608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRaR T URWRS UH d¢MH H 38H YfHdT S FUTd 82
Options :

1. % Y-grd

2. % YA N

3. ¥ HT DT HIT

4. % AHUAT-UIIAT U

Question Id : 92775914603 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS TSI fam 7T § | TR O TR WR Uid U faU 7 § | TR &l eAFgd s U aul YA U & dR fadmedl o 9 el faswed g |
sy & urg gt ¢t & SifEaT & Aed WR USRI STAT 7T § | HRA & AT feg oH iR o o o gt 9t # 2ifgar ot fodiw uwrar o6t 18
&1 3AFAT AT & Udcics Tdoliel B A TRT & ST 31 H YT 31 T7 & 3iavia 31fear & vy W fear 81 s usRr Mar & off s &
g UR SITE-SITT8 U= STEl 14T § | HATaTH HeTdR = 3o fRiemaff &1 Genyr Sifewn &1 sdrd gu fort $iR S & &t a1d Fgl 5|




ST A AT BT 31UTa B ot AU ol off St H1 Aheugdd a4 Tal BT 3R bl Siia a1 UToft Bt SIHRUI g9 el UgarT o | Tt
SITARICH 3O &1 14 &1 T ST Qe § | BRI AT S1d-87d H el 3T ST 391 B Ugfy &1 U YRS =0 g | iy 7 Pl
YT 1 T €, I8 ST gfeg BT AT IR 39 3fId 1 3 B YR HRll 8, TROTH: GERI b1 g8 MR YeT Ug=m &1 R §a1 ] |
gaft groft TR fore famraa 8, 1 fooelt O oft SR 8t 8, U=t W1aA1 811 WR 318 SIfd 1Y JHT g1 SITE 31k AR A1 | &7 b1 HId U1 SR
&1 BT T8 IaTd HTd gH AR URAR I ST a1 URWRS U1 HI 9g1d1 & H 38H YHHT FAuTar 8| 8 3w aul gv Ied g
TATHIT BT AT Hd g FATHA WH-UTH AT HAER TG &HT &1 UIGT 1 oia- B Srad I od §U 9T &1 T U1 it o1 ¢ fo
GHRI SiaTRIel! Ueb SFIeRUMY 3G & WY

Sub questions

Question Number : 196 Question Id : 92775914604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST Sita- 4 T ST 82

Options :

1. % 3ifgar & 9rf R 9a |

2. ¥ Had 1 gt Ta! dfewp fodll DI 1ft 3@ = ug Al
3. % Hed T g BI AT

4. % R USH Y ST gV UG G|

Question Number : 197 Question Id : 92775914605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SiTaT 2Tl B SIExuna g

Options :

1. % 3T BT UTa- b |

2. X1 9 g ¥ G X8 B d WH-UH B! Jaiid Td HR
3. % §3! B GHM d Blc] DI TR PP |

4. % fHd! T WA &I ol HRb |

Question Number : 198 Question Id : 92775914606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 199 Question Id : 92775914607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 200 Question Id : 92775914608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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